#### PLEASANTVILLE BOARD OF EDUCATION

### Pleasantville High School/701 Mill Road/Cafeteria REGULAR BOARD WORKSHOP/ACTION MEETING Wednesday, February 15, 2017

6:00 P.M. AGENDA

- 1. Call to Order
- 2. Reading of the Open Public Meeting Act Notice

#### **Statement –Board President**

"This is to advise those present at this February 15, 2017 Regular Board Workshop/Action Meeting of the Board of Education of the City of Pleasantville, in the County of Atlantic, that Notice was given on December 9, 2016 of the 2017 Revised Annual Designation of the Regular Monthly Board Meetings, as required by the provisions of Chapter 231 of the Laws of 1975; Notice thereof has been distributed for publication in the Press, the Absecon/Pleasantville Current and the Mainland Journal, posted in the Administration Building and forwarded to the City Clerk of the City of Pleasantville, within the time required by said act."

3. Roll Call – Board Secretary, Mr. Elisha Thompkins:

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Sharnell Morgan				
Richard Norris				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

- 4. Flag Salute and Moment of Silence
- 5. Voice of the Children-South Main Street School
- 6. Presentation- Cooper Levenson
- 7. Public Comments: Please limit comments to (3) minutes and all comments should be courteous and respectful.
- 8. Review of Board Minutes- December 13, 2016

### Board Approval of Workshop/Action Agenda Items

- 9. Finance
- 10. Facilities
- 11. Human Resources
- 12. Policy
- 13. Curriculum & Instruction
- 14. Executive Session

# PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/ Cafeteria FINANCE AGENDA ITEMS REGULAR BOARD WORKSHOP MEETING Wednesday, February 15, 2017

- 1. Approval of the Bill List for February 15, 2017 Warrant Account in the amount \$ 6,230,825.86. The payments have been reviewed by the Business Administrator/Board Secretary.
- 2. Approval of January 13, 2017 Payroll and Board Share of FICA/Medicare in the amount of \$ 2,076,277.60. The payments have been reviewed by the Business Administrator/Board Secretary.
- 3. Approval of January 27, 2017 Payroll and Board Share of FICA/Medicare in the amount of \$ 2,091,894.90. The payments have been reviewed by the Business Administrator/Board Secretary.
- 4. Approval of the Transfers for Fund 11 account ending December 31, 2016 in the amount of \$195,979.00. The Transfers have been reviewed by the Business Administrator/Board Secretary.
- 5. Approval of the Transfers for Fund 15 account ending December 31, 2016 in the amount of \$ 159,009.00. The Transfers have been reviewed by the Business Administrator/Board Secretary.

#### 6. Certification of No Over Expenditures

Pursuant to N.J.A.C. 6A:22-2.11 (c), I, Mr. Elisha Thompkins, Jr., Board Secretary, certify that as of December 31, 2016 no budgetary line item account has obligation and payments which in total exceed the amount appropriated by the District Board of Education pursuant to N.J.S.A.18A:22-8 and 18A:22-8.1, and that the District financial accounts have been reconciled and are in balance.

- Acceptance of the Treasurer and Secretary Reports for the month ending December 31, 2016. The Treasurer of School Monies and the Board Secretary's Reports are in balance for the cash receipts and disbursements for the month ending December 31, 2016.
- 8. **Resolution to approve** Hartigan & Stafford Grant Professionals, to provide consultation services to the Project Director for the 21st Century Community Learning Centers Continuation 2017-2018 Grant. The services will include programmatic review, edits and provide recommendations for continuation 2017-2018 Grant retention. Service is not to exceed \$5,000 account# 11-000-251-330-0000-351.
- 9. **BE IT RESOLVED**, that the Pleasantville Board of Education approves the New Jersey Department of Education Division of Early Childhood Education 2014-2019 Five Year Pre-School Program Plan, and Pre-School Educational Aid 2017-2018 Annual District Budget Planning Worksheet in the amount of 7,366,230.
- 10. **Resolution to approve** the 21st Century Community Learning Center Correction Action Plan for the 2016-2017 school year.

### (SEPTEMBER 1, 2016 THROUGH AUGUST 31, 2017 - YEAR 3 OF 5).

#### **Background**

The 21st Century Community Learning Centers Competitive Grant offers academic remediation and enrichment activities in tandem with a broad array of other enrichment activities in the areas of arts and culture, your development, and physical activity to students and their adult family members when school in is not in session. The purpose of the 21st CCLC program is to supplement the education of students in grades 4th through 12th, who attend schools eligible for Title I schoolwide programs. The five year grant cycle is September 1, 2014 through August 31, 2019, the five year grand program will end August 31, 2019.

- 11. **Be it RESOLVED**, that the Pleasantville Board of Education approve a gift receipt from Cooper Levenson Attorneys at Law, for the award winning card design by a NMSS 5<sup>th</sup> grader J.M.
- 12. **Be it RESOLVED,** that the Pleasantville Board of Education approve William & Elaine Hawkes, the co-host of WEHA 88.7 Gospel Radio Station and owners of Hawkes Janitorial to adopt North Main Street School.
- 13. Resolution to approve GenServe maintenance Agreement to provide preventive maintenance on District Generators not exceed 3,900.00 utilizing account #11-000-261-420-0000-352.
- 14. Resolution to approve Kowalski Roofing Corp. to provide roofing repairs to South Main Street School under the Ed data Services/Time and Materials bid#6898. Amount not exceed \$15,541.00 utilizing account # 11-000-261-420-0000-232.
- 15. **Be It** *Resolved* that the Pleasantville Board of Education approves the Garrison Architects (Sprinkler Replacement Project No GA#15-44) Change Order No. 1 of the Pleasantville High School Sprinkler Head Replacement (contractor: South Jersey Technology Partnership (SJTP) Technology Center.) in the amount of \$1,834.25 reduction as per the itemized list below. (Please See Attached)

Original Contract Amount: \$137,483.46 Amended Contract Amount \$135,649.21 Total Contract Change (Amount) (\$1,834.25)

Type of Change	Item #	Description	Amount
Reduction	1	Sprinkler Head Replacement	-\$1834.25
TOTAL REDUCTION			-\$1834.25

16. **Resolution to approve** a Two Hour Delay schedule for the Pleasantville Public School District if needed due to inclement weather. The times are as follows:

Pleasantville High School
 Elementary School
 Middle School
 9:15 a.m. - 2:05 p.m.
 10:20 a.m. - 2:50 p.m.
 10:20 a.m. - 3:21 p.m.

17. **WHEREAS**, the Pleasantville Board of Education advertised for 2016-2017 Transportation Charter Schools (Bid# PPS 16-20) in the Press of Atlantic City on July 28, 2016; and

WHEREAS, the Pleasantville Board of Education received no Bids for the August 9, 2016 Bid Opening; so

**THEREFORE**, **BE IT RESOLVED**, the Pleasantville Board of Education will re-advertise for 2016-2017 Transportation Charter Schools Transportation as Bid PPS 16-20(a).

**WHEREAS**, the Pleasantville Board of Education advertised for 2016-2017 Transportation Charter Schools Bid# PPS 16-20 (a) in the Press of Atlantic City on August12, 2016; and

**WHEREAS**, the Pleasantville Board of Education received (1) one Bid Integrity Transportation for the August 23, 2016 Bid Opening; so

**THEREFORE, BE IT RESOLVED**, the Pleasantville Board of Education will award Bid PPS 16-20(a) Charter Tech- 2 to Integrity Transportation for 2016-2017 Transportation Charter Schools Transportation utilizing account 11-000- 270-504-0000-352 (revised)

### **Background**

School	Cost per Route	Amount	Transportation provided
ACCS	\$45,000.00	\$45,000.00	Transportation provided by district
Charter Tech-1	\$45,000.00	45,000.00	Transportation provided by district

<sup>18.</sup> Resolution to approve the following to approve the 2016-2017 Special Education Services Out of District Pleasantville students are as follows:

Student Local ID# / State ID#	LOCATION	EFFECTIVE DATE	SERVICES	PER DIEM/ TUITION COST	PLACEMENT	GRADE	ACCOUNT#
13501050 / 6304533595	Hampton Behavioral Health Ctr.	Nov. 30, 2016 - Dec. 13, 2016	Educational	\$45.00 p/d Not Exceed 810.00	Medical	11	11-150-100- 320-0000-400
13501050 / 6304533595	American Tutor, Inc.	Nov. 7, 2016 - Nov. 28, 2016	Educational	\$50.00 p/d Not Exceed \$700.00	Medical	11	11-150-100- 320-0000-400

<sup>19.</sup> **Resolution** to approve the following to approve the 2016-2017 Special Education Services Out of District Pleasantville students are as follows:

Student Local ID# / State ID#	Location	Effective Date	Services	Per Diem/Tuition Cost	Placement	Grade	Account#
13501050 / 6304533595		Nov. 29, 2016 -Dec. 06, 2016	Educational	\$45.00 p/d Not Exceed	Medical	11	11-150-100- 320-0000-400

	Hampton Behavioral Health Ctr.			\$90.00			
3040943 / 5485870642	The Nemours Foundation Nemours Alfred I. DuPont	Dec. 8, 2016 - June 30, 2017	Educational	\$40.00 p/d Not Exceed \$9,200.00	Medical	04	11-150-100- 320-0000-400
3076663 / 5001056114	Inspira Health Network Bridgeton Board of Education	Oct. 19, 2016 - Oct. 24, 2016	Educational	\$30.00 p/d Not Exceed \$240.00	Medical	04	11-150-100- 320-0000-400
13408064 / 4695811983	Inspira Health Network Bridgeton Board of Education	Oct. 11, 2016 - Oct. 12. 2016	Educational	\$30.00 p/d Not Exceed \$30.00	Medical	10	11-150-100- 320-0000-400

MOTION BY:	SECOND BY:	Yea:	Nay:
------------	------------	------	------

### ROLL CALL:

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Sharnell Morgan				
Richard Norris				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

# PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/ Cafeteria FACILITIES USAGE AGENDA ITEMS REGULAR BOARD WORKSHOP MEETING Wednesday, February 15, 2017

1. Approval of the February 15, 2017 Facilities Usage Report.

Req #	Bld / Area	Event/Contact	Date(s)	Tim	nes			Staff			Cost			ost
				Beg.	End	#Att.	SC	CS	ST	LG	Staff	Fac	App Fee	Bala nce Due
104	PHS Parking Lot	American Cancer Society Annual Bike-A-Thon Monica O' Brien	Fri- Sun. 6/9/17- 6/11/17	6:00p 8:00p 7:00a 6:00p	m m-	3500	na	na	na	na	NC	NC	NC	NC
105	MSP C306 & C206	Seaperch Robotics Club Elizabeth Hurley	Saturdays 2/18,2/25, 3/4,3/11	9am-2	2pm	20	na	1	na	na	BC	NC	NC	BC
106	PHS Pool	Seaperch Robotics Club Elizabeth Hurley	Saturdays 2/18,2/25, 3/4,3/11	9am-2	2pm	70	na	1	na	1	BC	NC	NC	BC
107	MSP Cafetorium	MSP-Oratorical Club Dance Shawna Coles	Friday 4/7/17	5pm-9	9pm	100	2	2	na	na	BC	NC	NC	BC
108	MSP Cafetorium	MSP-PPS Title I Parent Workshop Alison Daud	Saturday 4/29/17	10am- 12pm		50	NC	1	na	na	BC	NC	NC	ВС
109	MSP Cafetorium	MSP-Oratorical Club Dance Shawna Coles	Friday 4/28/17	5pm-9	9pm	100	2	2	na	na	BC	NC	NC	ВС
110	MSP Cafetorium	MSP-Oratorical Club Contest Shawna Coles	Wednesday 5/17/17	5pm-9	9pm	100	2	2	NA	NA	BC	NC	NC	ВС
111	MSP Cafetorium	MSP-PTO Plant Sale Alison Daud	Thurs. & Fri. 5/11,& 5/12	3:30pi 7pm	m-	50	NA	NA	na	NA	NC	NC	NC	ВС
112	PHS Auditorium	WAS-Drama Club Beauty & the Beast	Thurs. 6/1/17	3pm-8	Bpm	300	3	3	na	1	NC.	NC	NC.	NC
113	PHS Football	Future Legends Jahmil Shakur	Sat. & Sun. 6/3/17 & 6/4/17	7am-8	Bpm	100	2	2	NA	NA	BC	NC	NC	ВС
114	MSP Cafetorium	Pleasantville Jokers Elysa Sanchez	Saturday 2/11/17	12pm	-8pm	200	2	2	NA	NA	ВС	NC	NC	ВС

115	PHS Football Field	Pleasantville Jokers Elysa Sanchez	2/15-6/10/17 Except 6/3/17	6pm-8pm	60	1	1	NA	NA	ВС	NC	NC	ВС
116	PHS D101	U.S. coast Guard Academy John Pallantic	Saturday 2/18/17	9am-2pm	30	NA	NA	NA	NA	ВС	NC	NC	ВС
117	WAS Classroom	Pleasantville Police Dept. Chief Sean Riggins	1 <sup>st</sup> & 3 <sup>rd</sup> Tue. 2/17-6/17	6pm-8pm	30	NA	NA	NA	NA	ВС	NC	NC	ВС
118	MSP Hallways	Mt. Airy Track of NJ/PA Track Practice Irvin Marable	Mon-Fri 2/17-4/17	6pm-8pm	30	NA	NA	NA	NA	BC	NC	NC	ВС

MOTION BY:		SECOND BY:	Yea:	Nay:
	ROLL CALL:			

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Sharnell Morgan				
Richard Norris				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

### PLEASANTVILLE BOARD OF EDUCATION HUMAN RESOURCES AGENDA ITEMS

### Board Workshop/Action Meeting Wednesday, February 15, 2017

It is recommended that the Board of Education accepts the recommendation of the Superintendent and hereby approves the following:

1. New Hires (Pending Criminal History Clearance):

11 14-11 11114	1. NEW TIME OF ENDING CHIMINAL THOTON'S CLEANANCE).								
Name	Position	Location	Effective Date	Salary	Funding Source				
Derling Jaquez	Bus Driver (Part-time)	Transportation	February 16, 2017 – June 30, 2017	\$16.44 per hour	11-000-270-160-0000-352				
Charlene Shelton	Bus Driver (Part-time)	Transportation	February 16, 2017 – June 30, 2017	\$16.44 per hour	11-000-270-160-0000-352				
Sinem Naylor replacing Grizilda Tabora	Interim Teacher	PHS	February 16, 2017 – June 30, 2017	\$52,875.00 (Step1) Pro-rated	15-140-100-101-0000-050 (Replace Grizilda Tabora)				

### 2. RETIREMENT:

Name	Position	Location	Effective Date	Salary	Funding Source
Charlotte Manning	Teacher	SMSS	December 31, 2017	N/A	N/A

### 3. RESIGNATION:

Name	Position	Location	Effective Date	Salary	Funding Source
Grizilda Tabora	Teacher	PHS	February 7, 2017	N/A	N/A
			(may hold up to 60 days		
			at the Superintendent's		
			discretion) Anticipated		
			Release Date:		
			February 24, 2017		

## 4. FMLA LEAVE WITH PAY AND WITH BENEFITS (UNTIL ACCUMULATED LEAVE IS EXHAUSTED AT WHICH TIME STAFF WILL BE OBLIGATED TO COBRA BENEFITS. ALL STAFF WILL CONTINUE TO BE OBLIGATED TO MAKE PREMIUM CONTRIBUTIONS):

Name	Position	Location	Effective Date	Salary	Funding Source
Allison Daub	Librarian/ Media Specialist	MSP	February 14, 2017 – June 30, 2017 (Intermittent)	N/A	N/A
Enestor Echevarria	Custodian	MSP	January 6, 2017 – March 30, 2017	N/A	N/A
Sara Gonzalez-Torres	Teacher	MSP	January 23, 2017 – June 30, 2017 (Intermittent)	N/A	N/A

## 5. FMLA LEAVE WITHOUT PAY AND WITH BENEFITS (UNTIL ACCUMULATED LEAVE IS EXHAUSTED AT WHICH TIME STAFF WILL BE OBLIGATED TO COBRA BENEFITS. ALL STAFF WILL CONTINUE TO BE OBLIGATED TO MAKE PREMIUM CONTRIBUTIONS):

Name	Position	Location	Effective Date	Salary	Funding Source
Laurie Mitchell	Teacher	NMSS	February 16, 2017 – June 30, 2017 (Intermittent)	N/A	N/A
Wendell Moseley	Custodian	WAS	February 6, 2017 – April 28, 2017	N/A	N/A
Santiago Murray	Security Guard	PHS	January 20, 2017 – June 30, 2017	N/A	N/A

### 6. STAFF TRANSFER:

Name	Position	Location	Effective Date	Salary	Funding Source
Monica White	Secretary	C&I to PHS	February 8, 2017 – June 30, 2017	N/A	15-000-240-105-0000-050

### 7. SALARY ADJUSTMENTS: PURSUANT TO COLLECTIVE BARGAINING AGREEMENT:

Name	Position	Location	Effective Date	Salary	Funding Source
Edward Bonek	Interim Principal	PHS	July 1, 2016 – June 30, 2017	\$126,963.00 \$125,863.00 HS/Prin./Step 1 + \$1,100 longevity	15-000-240-103-0000-050  Salary adjustment is pursuant to PAA
				to \$130,963.00 \$129,863.00 HS/Prin./Step 5 + \$1,100 Longevity	agreement Article VI – Section H Salary
Patricia Davis	Teacher	LAS	February 20, 2017- June 30, 2017	\$57,429.00 BA/Step 11 to \$58,292.00 BA+15/Step 11 (Pro-rated)	15-213-100-101-0000-080
Rayna Hendricks	Interim Principal	MSP	July 1, 2016 – June 30, 2017	\$118,663.00 MS/Prin./Step 1 to \$122,663.00 MS/Prin. Step 5	15-000-240-103-0000-055  Salary adjustment is pursuant to PAA agreement Article VI – Section H Salary
Michael Kiefer	Teacher	SMSS	February 20, 2017 – June 30, 2017	\$53,511.00 BA/Step 4 to \$54,373.00 BA+15/Step 4 (Pro-rated)	15-120-100-101-0000-095
Michele Simon	Teacher	NMSS	February 20, 2017 – June 30, 2017	\$55,451.00 BA+30/Step 5	15-204-100-101-0000-085

Name	Position	Location	Effective Date	Salary	Funding Source
				to \$56,314.00 MA/Step 5 (Pro-rated)	
Paulette Taylor	Teacher	NMSS	February 20, 2017 – June 30, 2017	\$54,584.00 BA+15/Step 5 to \$56,314.00 MA/Step 5 (Pro-rated)	15-204-100-101-0000-085

### 8. A-2 CONTRACTS FOR 6<sup>TH</sup> PERIOD OF INSTRUCTION:

Name	Position	Location	Effective Date	Salary	Funding Source
Erika Smalls	Technology Teacher	SMSS	January 23, 2017 – June 30, 2017	\$3,200.00	15-120-100-101-0000-095

### 9. A-2 CONTRACTS FOR HEAD CUSTODIANS:

Name	Position	Location	Effective Date	Salary	Funding Source
Clinton Anderson	Head Custodian	NMSS	July 1, 2016 – June 30, 2017	\$1,728.00	11-000-262-100-0000-085
Paul Grandison	Head Custodian	PHS	July 1, 2016 – June 30, 2017	\$1,728.00	11-000-262-100-0000-050
Robert Hopkins	Head Custodian	LAS	July 1, 2016 – June 30, 2017	\$1,728.00	11-000-262-100-0000-050
James Israel	Head Custodian	SMSS	July 1, 2016 – June 30, 2017	\$1,728.00	11-000-262-100-0000-095
Patrick Naylor	Head Custodian	MSP	July 1, 2016 – June 30, 2017	\$1,728.00	11-000-262-100-0000-055
Anthony Scott	Head Custodian	WAS	July 1, 2016 – June 30, 2017	\$1,728.00	11-000-262-100-0000-060
Derric Taliaferro	Head Custodian	ECH	July 1, 2016 – June 30, 2017	\$1,728.00	20-218-200-110-0000-234 (2016-2017 Preschool)

10. STUDENT INTERNSHIP/TEACHING/ FIELDWORK PLACEMENTS (PENDING CRIMINAL HISTORY CLEARANCE):

Name	Placement/ Assignment	School	Effective Date	Salary	Funding Source				
**To ensure the efficient operation of the district the Interim Superintendent of Schools approved the following Human Resources									
agenda item for Stockton s	tudents internships: The item is	s being place	on the agenda to be ratifi	ed by the Boa	ard of Education**				
Rebecca Darr	James Nagbe	PHS	January 26, 2017 –	N/A	N/A				
Stockton University	Grades 9-12/ Chemistry		May 1, 2017						
Mitchell Friedel	James Nagbe	PHS	January 18, 2017 –	N/A	N/A				
Stockton University	Grades 9-12/ Chemistry		June 30, 2017						
Michelle Levine	Anne Hughes	PHS	January 26, 2017 –	N/A	N/A				
Stockton University	Grades 9-12/ Social Studies		May 1, 2017						
Christopher Mancuso	Mary Lenahan	LAS	January 26, 2017 –	N/A	N/A				
Stockton University	Grade 4/ Elementary		May 1, 2017						
Rebecca Sartorio	Elizabeth Hurley	MSP	January 26, 2017 –	N/A	N/A				
Stockton University	Grade 7/ Science		May 1, 2017						

Name	Placement/ Assignment	School	Effective Date	Salary	Funding Source
Alyse Tyndell	Heather Sickler	PHS	January 26, 2017 –	N/A	N/A
Stockton University	Grade 9-12/ ELA		May 1, 2017		
Kaity Washington	Rachael Bey Burghart	SMSS	January 26, 2017 –	N/A	N/A
Stockton University	Grade 1/ Elementary		May 1, 2017		

### 11. PHS AND MSP FALL COACHING POSITIONS FOR 2016-2017 SCHOOL YEAR (PENDING CRIMINAL HISTORY CLEARANCE AND VERIFICATION OF EDUCATIONAL OR SUBSTITUTE TEACHER CERTIFICATION):

ne	tion	ation	ctive Date	ıry	ding Source
Aliyah Harmon	Basketball Girl's Assistant Coach	PHS	January 18, 2017 – June 30, 2017	\$2,910.00 (Pro-rated)	15-402-100-101-0000-050

### 12. PHS AND MSP Spring Coaching Positions for 2016-2017 School Year (Pending Criminal History Clearance and Verification of Educational or Substitute Teacher Certification):

Name	Position	Location	Effective Date	Salary	Funding Source
Richard McAllister	Baseball Head Coach	PHS	February 16, 2017 –	\$4,761.00	15-402-100-101-0000-050
(Teacher Certification)			June 30, 2017		
Patrick Chilliri	Baseball Assistant	PHS	February 16, 2017 –	\$3,374.00	15-402-100-101-0000-050
(Teacher Certification)	Coach		June 30, 2017		
Matthew Zachariades	Baseball Volunteer	PHS	February 16, 2017 –	N/A	N/A
(Teacher Certification)	Coach		June 30, 2017		
Scott Rullan	Softball Head Coach	PHS	February 16, 2017 –	\$4,761.00	15-402-100-101-0000-050
(Teacher Certification)			June 30, 2017		
Erik Clark	Softball Assistant	PHS	February 16, 2017 –	\$3,374.00	15-402-100-101-0000-050
(Teacher Certification)	Coach		June 30, 2017		
Alan Laws, Sr.	Track Boy's Head	PHS	February 16, 2017 –	\$4,761.00	15-402-100-101-0000-050
(Substitute Certification)	Coach		June 30, 2017		
Larry Ramirez	Track Boy's Assistant	PHS	February 16, 2017 –	\$3,374.00	15-402-100-101-0000-050
(Substitute Certification)	Coach		June 30, 2017		
Javier Garcia	Track Boy's Assistant	PHS	February 16, 2017 –	\$3,374.00	15-402-100-101-0000-050
(Substitute Certification)	Coach		June 30, 2017		
Lloyd Athill, Sr.	Track Girl's Head	PHS	February 16, 2017 –	\$4,761.00	15-402-100-101-0000-050
(Substitute Certification)	Coach		June 30, 2017		
Frances Brinkley-Ward	Track Girl's Assistant	PHS	February 16, 2017 –	\$3,374.00	15-402-100-101-0000-050
(Teacher Certification)	Coach		June 30, 2017		
Jonathan Howell	Track Girl's Assistant	PHS	February 16, 2017 –	\$3,374.00	15-402-100-101-0000-050
(Teacher Certification)	Coach		June 30, 2017		
James Bucko	Volleyball Boy's Head	PHS	February 16, 2017 –	\$4,761.00	15-402-100-101-0000-050
(Teacher Certification)	Coach		June 30, 2017		
Timothy Newkirk	Volleyball Boy's	PHS	February 16, 2017 –	\$3,374.00	15-402-100-101-0000-050
(Teacher Certification)	Assistant Coach		June 30, 2017		
Christopher Sacco	Weight Training Club	PHS	February 16, 2017 –	\$2,851.00	15-402-100-101-0000-050
(Teacher Certification)	Advisor		June 30, 2017		
William Bartle	Baseball Head Coach	MSP	February 16, 2017 –	\$2,446.00	15-402-100-101-0000-055
(Teacher Certification)			June 30, 2017		
John Dulski	Baseball Assistant	MSP	February 16, 2017 –	\$1,987.00	15-402-100-101-0000-055
(Teacher Certification)	Coach		June 30, 2017		
Nathan Henning	Flag Football Coach	MSP	February 16, 2017 –	\$1,848.00	15-402-100-101-0000-055
(Substitute Certification)			June 30, 2017		

Name	Position	Location	Effective Date	Salary	Funding Source
Matthew Mierzwinski	Softball Head Coach	MSP	February 16, 2017 –	\$2,446.00	15-402-100-101-0000-055
(Teacher Certification)			June 30, 2017		
TBD	Softball Assistant	MSP	February 16, 2017 –	\$1,987.00	15-402-100-101-0000-055
	Coach		June 30, 2017		
Douglas Harmon	Swim Club Volunteer	MSP	February 16, 2017 –	N/A	15-402-100-101-0000-055
(No Certification required)	Coach		June 30, 2017		
Harry Green	Tennis Co-ed Club	MSP	February 16, 2017 –	\$1,848.00	15-402-100-101-0000-055
(Teacher Certification)	Advisor		June 30, 2017		
Irvin Marable	Track Co-ed Head	MSP	February 16, 2017 –	\$2,446.00	15-402-100-101-0000-055
(Substitute Certification)	Coach		June 30, 2017		
Valerie Winfield	Track Co-ed	MSP	February 16, 2017 –	\$1,987.00	15-402-100-101-0000-055
(Teacher Certification)	Assistant Coach		June 30, 2017		
Alex Harley	Track Co-ed	MSP	February 16, 2017 –	\$1,987.00	15-402-100-101-0000-055
(Teacher Certification)	Assistant Coach		June 30, 2017		
Christine Teeney	Volleyball Co-ed	MSP	February 16, 2017 –	\$2,446.00	15-402-100-101-0000-055
(Teacher Certification)	Head Coach		June 30, 2017		
Kelly Morgan	Volleyball Co-ed	MSP	February 16, 2017 –	\$1,987.00	15-402-100-101-0000-055
(Teacher Certification)	Assistant Coach		June 30, 2017		

13. Resolution to approve Atlantic Cape Community College student nurses to complete their pediatric clinical rotation throughout the Pleasantville Public School District. Students will spend a total of three days (Tuesdays, Wednesdays, or Thursdays) with an assigned school nurse. There will be 1-2 students assigned per nurse's office beginning February 16, 2017 through May 30, 2017. All student nurses have completed the required criminal history background check and tuberculosis test with ACCC. There will be a total of ninety-four (94) student nurses rotating throughout the district. Please see list of students below:

Kendal Apalucci	21. Carolina Diosa	41. Michael Hober	61. Amy Moss	81. Ryan Sherwood
2. Amanda Arseneaux	22. Taylor Donovan	42. Olena Hunko	62. Nicole Nevill	82. Denis Shevlyakov
3. Noemi Aviles	23. Liliya Dovgopol	43. Gorgeena Jackson	63. Natalia Niebur	83. Alyssa Shipley
4. Angelo Baumeister	24. Melinda Dunleavy	44. Erika Johns	64. Natalya Nikos	84. Velquita Sneed
5. Fahmida Begum	25. Angelica Famiano	45. Brittany Jones	65. Samantha O'Brien	85. Rosana Sullivan
6. Sarah Bell	26. Richard Ferrer	46. Nicole Jones	66. Aubrey Orlandini	86. Heather Terwilliger
7. John Bergen	27. Sara Garces	47. Kayla Krause	67. Indira Pehar	87. Valerie Villamil
8. Victoria Berglund	28.Kelly Gatto	48. Carl Ladera	68. Jamie Plata	88. Kalynn Voci
9. James Bixler	29. Lauren Geib	49. Amy Leslie	69. Rebecca Portnoy	89. Osman Wain
10. Elizabeth Blanco	30. Brianna Giorno	50. Eric Lui	70. Rachel Pote	90. Sydney Wheaton
11. Jennifer Bowersock	31. Ellie Giouros	51. Laura Lynch	71. Gina Presti	91. Jessica White
12. Alexandra Burke	32. Amanda Gobbo	52. Janet Lyons	72. Syreeta Purnell	92. Azwar Zahid
13. Courtney Bussian	33. Angelina Gorobchenko	53. Gina Mangano	73. Barbara Jo Queen	93. Cynthia Zwicker
14. Jackie Carlson	34. Marina Gorshunova	54. Lisa Marioni	74. Brigith Quispe	94. Tyler Scanny
15. Nicole Chelo	35. Dakota Graver	55. Deidra Masi	75. Ella Rappaport	**Faculty Advisors**
16. Selena Colea	36. Tina Greene	56. Heather Mason	76. Dylan Rex	* Geralyn Michelfelder
17. Shannon Conn	37. Heather Greller	57. Angelina McKinney	77. Margaret Ridge	* Darlene Flamini
18. Lisa D'Adamo	38. Valerie Guilfoy	58. Monica Mendez	78. Stephanie Rubino	* Debbie Tolifero
19. Emily DeNoble	39. Sarah Gul	59. Christina Michalowski	79. Yunuen Sabatino	* Deb Dagrasso
20. Mathew Devlin	40. Melinda Haig	60. Judy Monacello	80. Samantha Savio	* Pam Paparone

### 14. PHS - DATA TEAM REPLACEMENTS FOR THE 2016-2017 SCHOOL YEAR:

Name	Position	Location	Effective Dates	Salary	Funding Source
Eric Clark	Teacher	PHS	February 15, 2017 –	\$30.00 per hour not	15-421-100-101-0000-050
Replacing			June 30, 2017	to exceed 30 hours	
Grizilda Tabora				(\$750.00)	
Matthew Zachariades	Teacher	PHS	February 15, 2017 –	\$30.00 per hour not	15-421-100-101-0000-050
Replacing			June 30, 2017	to exceed 30 hours	
Jonathan Howell				(\$750.00)	

### 15. Spring Concert Band – Based on Adequate Student Involvement:

Name	Position	Location	Effective Dates	Salary/ A-2 Stipend	Funding Source
Michael Daly	Band Director	PHS	February 16, 2017- June 30, 2017	\$2,500.00	15-401-100-101-0000-050
Hassan Abdur-Raheem	Asst. Band Director	PHS	February 16, 2017- June 30, 2017	\$1,728.00	15-401-100-101-0000-050
Brian Basner	Percussion Instructor	PHS	February 16, 2017- June 30, 2017	\$1,728.00	15-401-100-101-0000-050
Karla Carmichael	Band Front	MSP	February 16, 2017- June 30, 2017	\$1,728.00	15-401-100-101-0000-050
Elizabeth Hurley	Band Front	MSP	February 16, 2017- June 30, 2017	\$1,728.00	15-401-100-101-0000-050

### 16. Freshman Class Advisor Replacement for the Remainder of the 2016- 2017 School Year:

Name	Position	Location	Effective Dates	Salary/ A-2 Stipend	Funding Source
Susan Johnston	Teacher	PHS	September 6, 2016 – December 22, 2016	\$912.00	15-401-100-101-0000-050
William Burch	Teacher	PHS	February 16, 2017- May 19, 2017	\$912.00	15-401-100-101-0000-050

### 17. PHS – JROTC INSTRUCTORS SUMMER PROJECTS:

Name	Position	Location	Effective Date	Salary	Funding Source
CPT Bobby Edwards	JROTC Instructor	PHS	June 21, 2017 – August 31, 2017	21 days at a per diem rate not to exceed \$9,500.00	15-401-100-101-0000-050 20-459-100-101-0000-547 (2017-2018 JROTC Grant)
SFC Timothy Mack	JROTC Instructor	PHS	June 21, 2017 – August 31, 2017	21 days at a per diem rate not to exceed \$9,000.00	15-401-100-101-0000-050 20-459-100-101-0000-547 (2017-2018 JROTC Grant)

### 18. PHS - SPRING MUSICAL BASED ON ADEQUATE STUDENTS INVOLVEMENT:

Name	Position	Location	Effective Date	Salary/ A-2 Stipend	Funding Source
Arthur Taylor	Spring Musical Director	PHS	February 16, 2017 – June 30, 2017	\$4,000.00	15-401-100-100-0000-050
Amanda Fowler	Spring Musical Assistant Director	PHS	February 16, 2017 – June 30, 2017	\$3,000.00	15-401-100-100-0000-050
Teresa Minnix	Spring Musical Music Director	PHS	February 16, 2017 – June 30, 2017	\$3,000.00	15-401-100-100-0000-050

19. Resolution to approve the Pleasantville Public School District to participate in Stockton University's Teacher Interview Day and Mini Career Fair. The Teacher Interview Day will take place in the Campus Center, Career Center – Suite 104 during the week of April 24, 2017. The Mini Career Fair will be held on Monday, April 24, 2017 in the main atrium of the Campus Center from 10am – 2pm. The purpose of attending is to seek out local college students with certifications in a variety of teaching areas. The following human resources staff members will be attending the recruiting event: Dr. Mark Delcher, Director of Human Resources, Lolita Adams, Secretary, and/or Temera Stafford, Executive Secretary. There is no cost to the district to accept the invitation from Stockton University.

#### 20. Public Matters:

Resolution to affirm the Superintendent's actions on the HIB matters.

INCIDENT#	SCHOOL
2135	MIDDLE SCHOOL OF PLEASANTVILLE
2157	MIDDLE SCHOOL OF PLEASANTVILLE
2170	LEEDS AVENUE SCHOOL
2174	PLEASANTVILLE HIGH SCHOOL
2181	MIDDLE SCHOOL OF PLEASANTVILLE
2184	PLEASANTVILLE HIGH SCHOOL
2192	PLEASANTVILLE HIGH SCHOOL
2218	PLEASANTVILLE HIGH SCHOOL
2260	MIDDLE SCHOOL OF PLEASANTVILLE
2266	MIDDLE SCHOOL OF PLEASANTVILLE
2267	MIDDLE SCHOOL OF PLEASANTVILLE
2281	LEEDS AVENUE SCHOOL
2289	LEEDS AVENUE SCHOOL
2291	PLEASANTVILLE HIGH SCHOOL
2292	LEEDS AVENUE SCHOOL
2306	PLEASANTVILLE HIGH SCHOOL
2310	MIDDLE SCHOOL OF PLEASANTVILLE
2327	MIDDLE SCHOOL OF PLEASANTVILLE
2328	PLEASANTVILLE HIGH SCHOOL
2341	PLEASANTVILLE HIGH SCHOOL
2342	PLEASANTVILLE HIGH SCHOOL
2350	SOUTH MAIN STREET SCHOOL
2351	MIDDLE SCHOOL OF PLEASANTVILLE
2392	PLEASANTVILLE HIGH SCHOOL

MOTION BY:	SECOND BY:	Yea: Nay:
SUL CALL.		

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Sharnell Morgan				
Richard Norris				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

### PLEASANTVILLE BOARD OF EDUCATION POLICY

### AGENDA ITEMS

### Board Workshop/Action Meeting

Wednesday, February 15, 2017

### **POLICY:**

1. Resolution to adopt the following Policies and Regulations (Second Reading):

P & R 1510	Americans with Disabilities Act (M) (Revised)
P 2415.30	Title I - Educational Stability for Children in Foster Care (M) (New)
P & R 2418	Section 504 of the Rehabilitation Act of 1973 Students (M) (New)
P & R 5116	Education of Homeless Children (Revised)
P 5330.04	Administering an Opioid Antidote (New)
P & R 8330	Student Records (M) (Revised)

2. Resolution to review and approve the following Policies and Regulations (First Reading):

P 1522 P & R 5306 P & R 5308 P & R 5530 P & R 5600	Health Services Student Health Substance Abus	anning (M) (Abolished) to Nonpublic Schools (M) (Revised) Records (M) (Revised) se (M) (Revised) ne/Code of Conduct (M) (Revised)	,	
MOT	ION BY:	SECOND BY:	Yea: Nay:	:
ROLI	L CALL:			

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Sharnell Morgan				
Richard Norris				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

# PLEASANTVILLE BOARD OF EDUCATION CURRICULUM & INSTRUCTION AGENDA ITEMS

Board Workshop Meeting Wednesday, February 15, 2017

The Superintendent of Schools recommends adoption of the following:

### **RESOLUTION**

The Pleasantville Board of Education is committed to ensuring all students succeed academically and reach their full potential in life. In doing so, it is also committed to providing opportunities for and ensuring that all students (inclusive of English Language Learners and Special Education Students) meet the New Jersey Common Core State Standards and achieve academic and long-life success.

1. WORKSHOP/CONFERENCE ATTENDANCE: (ALL TRAVEL REIMBURSEMENT SUCH AS: MILEAGE, TOLLS AND PARKING MUST HAVE RECEIPTS)

Staff Member	Location	ocation Title of Workshop/Conference		Cost	Account #
Anderson Shakimah	MSP	NJ Administrative Assistant Conference AC, NJ	03-28-17	\$ 199.00 Registration	15-000-223-500-0000-055
Carrington Linda	NMSS	NJ Administrative Assistant Conference AC, NJ	03-28-17	\$ 199.00 Registration	15-000-223-500-0000-085
Cross Sharon	SMSS	NJ Administrative Assistant Conference AC, NJ	03-28-17	\$ 199.00 Registration	15-000-223-500-0000-095
Gaynor Kim	MSP	NJ Administrative Assistant Conference AC, NJ	03-28-17	\$ 199.00 Registration	15-000-223-500-0000-055
Hernandez Damaris	MSP	NJ Administrative Assistant Conference AC, NJ	03-28-17	\$ 199.00 Registration	15-000-223-500-0000-055
Rosario Lourdes	MSP	NJ Administrative Assistant Conference AC, NJ	03-28-17	\$ 199.00 Registration	15-000-223-500-0000-055
Carmichael Carla	MSP	Lakeside Middle School AVID Demonstration Day Millville, NJ	03-01-17	\$ 0.00	N/A
Casiano Ninette	MSP	Lakeside Middle School AVID Demonstration Day Millville, NJ	03-01-17	\$ 0.00	N/A
Denman Carin	MSP	Lakeside Middle School AVID Demonstration Day Millville, NJ	03-01-17	\$ 0.00	N/A
Gaynor Kim	MSP	Lakeside Middle School AVID Demonstration Day Millville, NJ	03-01-17	\$ 0.00	N/A

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account #	
Gillespie Mary L.	MSP	Lakeside Middle School AVID Demonstration Day Millville, NJ	03-01-17	\$ 0.00	N/A	
Graves Anne	MSP	Lakeside Middle School AVID Demonstration Day Millville, NJ	03-01-17	\$ 0.00	N/A	
Hoerr Ashley	MSP	Lakeside Middle School AVID Demonstration Day Millville, NJ	03-01-17	\$ 0.00	N/A	
LaTorre Michael	MSP	Lakeside Middle School AVID Demonstration Day Millville, NJ	03-01-17	\$ 0.00	N/A	
Percy Danielle	MSP	Lakeside Middle School AVID Demonstration Day Millville, NJ	03-01-17	\$ 0.00	N/A	
Randall Luraine Dr.	MSP	Lakeside Middle School AVID Demonstration Day Millville, NJ	03-01-17	\$ 0.00	N/A	
Williamson Victoria	MSP	Lakeside Middle School AVID Demonstration Day Millville, NJ	03-01-17	\$ 0.00	N/A	
Barnard Patricia	LAS	PBSIS: Universal Training: Designing the Instructional Component, Blackwood, NJ	02-01-17 Superintendent Approved	\$ 0.00	N/A	
Briggs Candace	LAS	PBSIS: Universal Training: Designing the Instructional Component, Blackwood, NJ	I Training: 02-01-17 \$ 0. structional		N/A	
Fogg Ronald	LAS	PBSIS: Universal Training: Designing the Instructional Component, Blackwood, NJ	02-01-17 Superintendent Approved	\$ 0.00	N/A	
Hindelang Andrea	LAS	PBSIS: Universal Training: Designing the Instructional Component, Blackwood, NJ	02-01-17 Superintendent Approved	\$ 0.00	N/A	
Krason Mathew	LAS	PBSIS: Universal Training: Designing the Instructional Component, Blackwood, NJ	02-01-17 Superintendent Approved	\$ 0.00	N/A	
Luna Tamika	LAS	PBSIS: Universal Training: Designing the Instructional Component, Blackwood, NJ	02-01-17 Superintendent Approved	\$ 0.00	N/A	
McKinsey Marchita	LAS	PBSIS: Universal Training: Designing the Instructional Component Blackwood, NJ	02-01-17 Superintendent Approved	\$ 0.00	N/A	
Primus Syreeta	LAS	PBSIS: Universal Training: Designing the Instructional Component Blackwood, NJ	02-01-17 Superintendent Approved	\$ 0.00	N/A	

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account #
Spence-Leslie Sherry	LAS	PBSIS: Universal Training: Designing the Instructional Component, Blackwood, NJ	02-01-17 Superintendent Approved	\$ 0.00	N/A
Anderson Robert	MSP	Child Adult Care Food Program Eligibility and Record Keeping Westhampton, NJ	02-23-17 02-24-17	\$ 76.16 Mileage	11-000-251-580-0000-351
Atkins-Turner Andrea	PHS	Bomb Threat Assessment, Awareness and Response Galloway, NJ	02-08-17 Superintendent Approved	\$ 0.00	N/A
Atkins-Turner Andrea	PHS	ELA and Math Curriculum Conversations for RAC 7 Schools, Galloway, NJ	02-15-17 Superintendent Approved	\$ 0.00	N/A
Beard Vernon	MSP	Child Adult Care Food Program Eligibility and Record Keeping Westhampton, NJ	02-23-17 02-24-17	\$ 0.00	N/A
Berg Sara	MSP	Making Best Use of Apps and Other Cutting Edge Technology, Cherry Hill, NJ	03-28-17	\$ 270.00 Registration \$ 25.60 Mileage	15-000-223-500-0000-055
Carmichael James	Transportation	NJ Pupil Transportation Conference, AC, NJ	03-30-17 03-31-17	\$ 325.99 Registration	11-000-270-500-0000-352
Carmichael James	Transportation	Fleet Management Mays Landing, NJ	03-02-17 03-09-17 03-16-17 03-23-17	\$ 380.00 Registration	11-000-270-500-0000-352
Carmichael James	Transportation	Management & Supervising Skills Howell, NJ 9:00am-12:00pm	03-11-17 03-18-17 03-25-17 04-08-17 04-22-17 04-29-17	\$ 820.00 Registration	11-000-270-500-0000-352
Carmichael James	Transportation	Employee Training & Safety Education Howell, NJ 12:30pm-3:30pm	03-11-17 03-18-17 03-25-17 04-08-17 04-22-17 04-29-17	\$ 644.00 Registration	11-000-270-500-0000-352
Carrington Derrick	PHS	2017 Annual Athletics Directors Workshop AC, NJ	03-13-17 03-14-17 03-15-17 03-16-17	\$ 375.00 Registration	15-000-240-580-0000-050
Chapman Constance	PHS	Breaking Down Barriers to Successful Teaching and Learning Monroe Township, NJ	04-07-17	\$ 0.00	N/A

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account #
Chapman Constance	PHS	Instruction as a Collaborative Process Monroe Township, NJ	01-30-17 Superintendent Approved	\$ 0.00	N/A
Chapman Constance	PHS	Making Curriculum Accessible to All Monroe Township, NJ	03-02-17	\$ 0.00	N/A
Dansby Patricia	ECC	Strengthening Families Framework Trenton, NJ	03-23-17 04-28-17 05-25-17	\$ 179.00 Mileage & Tolls	20-218-200-580-0000-234
Delahant Deborah	NMSS	ESL Consortium Burlington, Co. NJ	02-22-17	\$ 0.00	N/A
Farkas Karen	Student Services	Federal Wage, Wage, & Child Labor Laws, Regulation and Hazardous Orders Online Course	02-16-17	\$ 110.00 Registration	11-000-219-500-0000-400
Farkas Karen	Student Services	Federal Wage, Wage, & Child Labor Laws, Regulation and Hazardous Orders Mays Landing, NJ	04-27-17	\$ 110.00 Registration	11-000-219-500-0000-400
Farkas Karen	Student Services	Designing & Implementing Student Training Plans Mays Landing, NJ	03-28-17 03-29-17 03-30-17	\$ 330.00 Registration	11-000-219-500-0000-400
Farrington Donna	Transportation	SIS Transportation Supervisors Conference	03-30-17	\$ 325.00	11-000-270-500-0000-352
Johnson Jacques	ECC	Strengthening Families Framework Trenton, NJ	03-23-17 04-28-17 05-25-17	\$ 179.00 Mileage & Tolls	20-218-200-580-0000-234
Gendlek Sara	PHS	The Therapeutic Power of Art: Motivation, Pride & Success Hammonton, NJ	03-14-17	\$ 55.00 Registration	15-000-240-500-0000-050
Irwin Rene	MSP	Mandatory State PARCC Training for District Testing Staff, Mt. Laurel, NJ	02-16-17	\$ 0.00	N/A
Manning Catherine	Business Office	Contract Management New Brunswick, NJ	03-22-17	\$ 221.00 Registration 32.86 Mileage \$ 7.00 Parking	11-000-251-580-0000-351
Marchesani Lindsey	PHS	3rd. Annual Cape May County Pride Committee Conference Cape May, NJ	01-24-17 Superintendent Approved	\$ 0.00	N/A

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account #	
Marchesani Lindsey	PHS	RAC & ELA & Math Curriculum Galloway, NJ	02-15-17 Superintendent Approved	\$ 0.00	N/A	
Pedano Tracy	MSP	Child Adult Care Food Program Eligibility and Record Keeping Westhampton, NJ	02-23-17 02-24-17	\$ 83.52 Mileage	11-000-251-580-0000-351	
Rios Gerardo	WAS	NJTESOL Conference New Brunswick, NJ	06-01-17	\$ 199.00 Registration \$ 35.00 Membership	Title III 20-241-280-500-0000-545	
Shockley Kelsey	PHS	Holocaust and Dual Credit Consortium Meeting Galloway, NJ	02-24-17	\$ 0.00	N/A	
Shockley Kelsey	PHS	RAC & ELA & Math Curriculum Galloway, NJ	02-15-17 Superintendent Approved	\$ 0.00	N/A	
Stafford Temera	Human Resources	Management Skills for Secretaries AC , NJ	03-24-17	\$ 110.00 Registration	11-000-251-580-0000-351	
Stevenson Michelle	PHS	NARCAN Training Galloway, NJ	03-16-17	\$ 0.00	N/A	
Stuart-Smith Lisa	DAP	LACES Update: Mandatory Training for all agencies that receive funds for adult literacy	05-01-17	\$ 0.00	N/A	
Thompkins Elisha	Business Office	BA Contracts, Pensions, Merit Pay, Chapter 78 Robbinsville, NJ	03-07-17	\$ 25.00 Registration	11-000-251-580-0000-351	
Washington Aaron	MSP	Mandatory State PARCC Training for District Testing Staff, Mt. Laurel, NJ	02-16-17	\$ 0.00	N/A	
Ward Marissa	WAS	101 Practical and Ready to Use Strategies to Strengthen Your Students Writing , Cherry Hill, NJ	03-17-17	\$ 245.00 Registration	15-000-223-500-0000-060	
Watson Ericka	S.E. Academic Coach	Federal Wage, Wage, & Child Labor Laws, Regulation and Hazardous Orders Online Course	02-16-17	\$ 110.00 Registration	11-000-221-390-0000-234	
Watson Ericka	SE Academic Coach	Federal Wage, Wage, & Child Labor Laws, Regulation and Hazardous Orders Mays Landing, NJ	04-27-17	\$ 110.00 Registration	11-000-221-390-0000-234	
Watson Ericka	SE Academic Coach	OSHA 10 Plus Mays Landing, NJ	03-07-17 03-08-17	\$ 228.00 Registration	11-000-221-390-0000-234	

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account #
Watson Ericka	SE Academic Coach	Designing & Implementing Student Training Plans Mays Landing, NJ	03-28-17 03-29-17 03-30-17	\$ 330.00 Registration	11-000-221-390-0000-234
White Daile	Business Office	Budgeting: Review of Sales Programs. Robbinsville, NJ	01-25-17	\$ 25.00 Mileage	11-000-251-580-0000-351
White Daile	Business Office	Audit Program Update & Miscellaneous Financial Issues Mt. Laurel, NJ	04-27-17	\$ 25.00 Registration \$ 29.00 Mileage	11-000-251-580-0000-351

### 2. Activities

Calaaa I/Dua ayaaya		D.t.	0.5-1	A 4.11	T: a /D
School/Program	Activity	Date	Cost	Account#	Time/Purpose
Early Childhood	PTO Meeting	02-16-17	\$ 0.00	N/A	09:00am & 01:30pm
Center					10:00am & 02:30pm
Early Childhood	Lions Kids Sight	03-06-17	\$ 0.00	N/A	9:00am-2:00pm
Center	USA: Vision	03-07-17			
	Screenings				
Early Childhood	Annual Pre-K	05-12-17	\$ 2,500.00	20-218-2006-0000-00234	Previously BOE approved
Center	Spring Arts		Refreshments		10/11/16.
	Festival				Date change only.
Early Childhood	Parent Workshop	05-24-17	\$ 0.00	N/A	9:00am-10:00am
Center	Community		·		
	Assistance				
Early Childhood	Read Across	03-06-17	\$ 0.00	N/A	9:00am & 2:15pm
Resources &	America	03-31-17			Members of the
Social Services	LAS & NMSS				Community, advisory and
					parents visit and read
					books to pre-k students
Early Childhood	Annual Healthy	Week of	\$ 0.00	N/A	9:00am & 1:00pm
Resources &	Snacks Parent	03-06-17	*		Students and families
Social Services	Workshop	03-10-17			learn about good nutrition
	LAS & NMSS				Tourn door good manner
LAS	Black History	02-24-17	\$ 0.00	N/A	6:00pm-8:00pm
	Program		<b>V</b> 5.55		Moving to The Sounds of
					Motown
LAS	WTTH Radio	02-27-17	\$ 150.00	20-218-2006-0000-00234	Morning and Afternoon
2.10	Advertisement	03-01-17	Advertisement	20 210 2000 0000 00201	menning and 7 memoria
	for Pre-K 3 & 4	00 01 11			
	Registration				
LAS	Dental Health	TBD	\$ 0.00	N/A	Importance and benefits
2,10	Month	100	Ψ 0.00	14/7	of Dental Care
LAS	Read Across	03-02-17	\$ 0.00	N/A	9:00am-10:00am
1.0	America	00 02-17	Ψ 0.00	I W/ /*\	Guest speakers
	America				Outot speakers
LAS	We r Going to	04-05-17	\$ 1,200.00	Student Activity Account	Pre-K
	the Movies	0-7 00-17	Tickets	Student Activity Account	
	u io iviovios				

School/Program	Activity	Date	Cost	Account#	Time/Purpose
LAS	WTTH Radio Advertisement for Pre-K 3 & 4	03-27-17 03-29-17	\$ 150.00 Advertisement	20-218-2006-0000-00234	Morning and Afternoon
LAS	Registration WTTH Radio Advertisement for Pre-K 3 & 4 Registration	04-24-17 04-26-17	\$ 150.00 Advertisement	20-218-2006-0000-00234	Morning and Afternoon
LAS	WTTH Radio Advertisement for Pre-K 3 & 4 Registration	05-22-17 05-24-17	\$ 150.00 Advertisement	20-218-2006-0000-00234	Morning and Afternoon
LAS	WTTH Radio Advertisement for Pre-K 3 & 4 Registration	06-19-17 06-21-17	\$ 150.00 Advertisement	20-218-2006-0000-00234	Morning and Afternoon
LAS	STEM Assembly by Franklin Institute	06-01-17	\$ 640.00 Tickets	Student Activity Account	Weather topics, the water cycle and thermodynamics
MSP	AVID Speaker	TBD	\$ 0.00	N/A	TBD BETHE CHANGE Campaign
MSP	AVID Speaker	TBD	\$ 0.00	N/A	TBD Jeffrey Wilson, Esq.
MSP	AVID Speaker	03-10-17 03-16-17	\$ 0.00	N/A	9:00am & 1:45pm Mark Philips, NJ Corporate Tax Accountant, PWC.
MSP	Youth Service Life Skills Presentation	03-15-17	\$ 0.00	N/A	9:30am-11:30am
MSP	Talent Show	03-30-17	\$ 0.00	N/A	7:00pm-10:00pm
MSP	Heads Up Program	04-04-17	\$ 0.00	N/A	9:00am-1-:00am Philadelphia Police Department assembly about the reality and harshness of drug involvement
MSP	Title I MSP Parent Workshop	04-29-17	\$ 0.00	N/A	10:00am-11:30am Writing, Speaking and Poetry
MSP	Oratorical Preliminary Round	05-17-17	\$ 0.00	N/A	9:00am-10:30am
MSP	Oratorical Preliminary Round	05-17-17	\$ 0.00	N/A	6:00pm-9:00pm

School/Program	Activity	Date	Cost	Account#	Time/Purpose
NMSS	4-H Youth Development Program with NMSS Golf Program	02-20-17 Through 06-05-17	\$ 509.00	15-000-240-300-0000-085	Golf culture to reinforce academic achievements
NMSS	Peace Zone Hall of Fame Red Carpet Induction Ceremony and NJEA.	03-16-17	\$ 0.00	Pride Grant	5:30pm-6:30pm
NMSS	Read Across America Celebration	03-02-17	\$ 0.00	N/A	9:00am-10:45am
NMSS	Bubbles for Autism	04-12-17	\$ 85.50 Bubbles	Activity Account # 0539	Autism Awareness
NMSS	Mother's Day Tea	05-12-17	\$ 150.00 Refreshments	Activity Account # 0539	1:30pm-2:50pm
NMSS	Fantastic Father's Day Fun	06-16-17	\$ 150.00 Refreshments	Activity Account # 0539	9:30am-11:00am
PHS	Pleasantville's Got Talent	02-17-17	\$ 0.00	N/A	Previously BOE approved 10/11/16. Date change only.
PHS	PBSIS Movie Night	02-24-17	\$ 0.00	N/A	Previously BOE approved 01/13/16. Date change only.
PHS JROTC	Junior Achievement Mentorship Forum	03-17-17	\$ 0.00	N/A	9:45am-2:30pm
PHS	Boys & Girls Soccer Team Celebration	03-09-17	\$ 875.00 Trophies Food	15-402-100-600-0000-050 15-402-100-500-0000-050	4:30pm-8:00pm
PHS	Girls Volleyball Team Awards	02-22-17	\$ 190.00 Food \$ 60.00 Trophies	15-402-100-500-0000-050 15-402-100-600-0000-050	4:30pm-6:30pm
PHS	Yearbook Sale	03-01-17	\$ 0.00	N/A	Raise funds for student activities
PHS	"Kids in Conflict: Syria" Library Exhibition	03-29-17	\$ 0.00	N/A	Students will create and create an exhibition in the library.
PHS	Anime Club Movie Night	04-07-17	\$ 0.00	N/A	6:30pm-9:00pm Raise awareness of the Anime Club's role in the community
PHS	Anime Club Movie Night	05-05-17	\$ 0.00	N/A	6:30pm-9:00pm Raise awareness of the Anime Club's role in the community

School/Program	Activity	Date	Cost	Account#	Time/Purpose
SMSS	2017 District Black History Bowl	02-27-17	\$ 165.00 Refreshments	Student Activity Account # 0537	10:00am-12:00pm A team of 5th grade students from each elementary school will compete in a game of jeopardy.
SMSS	Mother Daughter Spa Night	05-12-17	\$ 150.00 Refreshments	Activity Account # 0537	6:00pm
SMSS	I Love SMSS School Dance	02-10-17	\$ 150.00 Refreshments	Activity Account # 0539	3:00pm-4:30pm School Spirit Dance
SMSS	Hoops for Hearts	02-13-17	\$ 0.00	N/A	Raise funds and awareness for the American Heart Association
WAS	Black History Show	02-23-17	\$ 150.00 Refreshments	Activity Account # 0536	Black History Awareness
WAS	Rock n Roll Nutrition	03-02-17	\$ 0.00	N/A	Assembly
WAS	Spring Showcase	05-18-17	\$ 100.00 Refreshments	Activity Account # 0536	4:00pm-6:00pm
WAS	Beauty and the Beast Performance	06-01-17	\$ 0.00	N/A	5:00pm-8:00pm
WAS	Physical Education Competition Week	05-22-17 05-23-17 05-24-17 05-25-17 05-26-17	\$ 27.50 Trophy	Activity Account # 0536	10:00am-1:00pm
WAS	Kindergarten Fun Day	05-30-17	\$ 0.00	N/A	9:30am-11:30am

### 3. FUNDRAISERS:

School	Activity	Start Date	End Date	Purpose
DAP	Popcorn Fundraiser	03-06-17	03-24-17	Raise funds for student activities
LAS	Pretzel Sale	03-01-17	03-31-17	Raise funds for student activities
MSP	Talent Show ticket sales	03-23-17	03-30-17	Raise funds for the MSP Dance Academy
MSP	Mother's Day	04-28-17	05-12-17	Raise funds for PTO student activities
	Plant Sale			
MSP	Dress down	04-07-17	04-07-17	Raise funds for the Oratorical Club
MSP	Dress down	03-31-17	03-31-17	Raise funds for the Oratorical Club
MSP	Spring Delight Dance	04-28-17	04-28-17	Raise funds for student activities
	snack sale			
NMSS	Treat Sale	02-16-17	02-28-17	Raise funds for student activities
NMSS	Bake Sale	02-23-17	02-24-17	Raise funds for student activities
NMSS	Brochure Sales	02-27-17	03-10-17	Raise funds for PTO student activities
NMSS	Chipotle Spirit Night	05-09-17	05-09-17	Raise funds for student activities
PHS	Otis Spunk Meyer Sales	02-16-17	03-30-17	Raise funds for student activities

School	Activity	Start Date	End Date	Purpose
PHS	Concession Stand @	04-07-17	04-07-17	Raise funds for Anime Club
	Anime Movie Night			student activities
PHS	Concession Stand @	05-05-17	05-05-17	Raise funds for Anime Club student activities
	Anime Movie Night			
PHS	Pleasantville's Got	02-17-17	02-17-17	Previously BOE approved on 10-11-16:
	Talent			Date change to 02-17-17 only.
PHS	Chic Fil a for Lunch	02-21-17	03-01-17	Raise funds for Senior Class
PHS	Movie Night	02-24-17	02-24-17	Date change from 01-13-17
PHS	Cinnabon Sale	03-13-17	03-20-17	Raise funds for senior class
SMSS	I Love SMSS School	02-10-17	02-10-17	Raise funds for student activities
	Dance ticket sales			
SMSS	Hoops for Hearts	02-13-17	03-13-17	Raise funds for the American Heart Association
WAS	Bingo for Books	03-02-17	03-02-17	Change date from 12-08-16.
WAS	Funds for Kids	02-21-17	03-09-17	Raise funds for student activities
	Fundraiser			
WAS	Refreshment Sale for	05-18-17	05-18-17	Raise funds for WAS Drama club
	WAS school play @ PHS			

### 4. Field Trips:

School	Activity	Location	Date/Time	Cost	Account#
Decatur Avenue Pre-K	Washington Avenue School - 200 Students - 30 Chaperones	Pleasantville, NJ	02-23-17 8:45am-10:45am	\$ 0.00	N/A
Decatur Avenue Pre-K	South Main Street School - 100 Students - 15 Chaperones	Pleasantville, NJ	03-01-17 8:45am-11:30am	\$ 0.00	N/A
Decatur Avenue Pre-K	South Main Street School - 100 Students - 15 Chaperones	Pleasantville, NJ	03-02-17 8:45am-11:30am	\$ 0.00	N/A
Decatur Avenue Pre-K	Cape May Park/Zoo - 216 Students - 25 Chaperones	Cape May, NJ	05-16-17 9:00am-1:45pm Rain Date 05-23-17	\$ 320.00 Parking for 4 Busses	20-218-200-511-0000-234 Student Activity Account # 2080
Decatur Avenue Pre-K	Atlantic County Park & Nature Center - 90 Students - 22 Chaperones	Mays Landing, NJ	04-27-17 9:00am-1:45pm	\$ 0.00	N/A
Decatur Avenue Pre-K	Atlantic County Park & Nature Center - 90 Students - 22 Chaperones	Mays Landing, NJ	04-28-17 9:00am-1:45pm	\$ 0.00	N/A
LAS Avenue Pre-K	Atlantic County Park & Nature Center - 105 Students - 22 Chaperones	Mays Landing, NJ	05-09-17 9:00am-1:45pm	\$ 0.00	N/A

School	Activity	Location	Date/Time	Cost	Account#
LAS Avenue Pre-K	Cape May Park/Zoo  105 Students  22 Chaperones	Cape May, NJ	05-17-17 9:00am-1:45pm Rain Date 05-24-17	\$ 240.00 Parking for 3 Busses	Student Activity Account # 2080
MSP Band	Shawnee HS  - 06 Students  - 01 Chaperone	Medford, NJ	04-29-17 8:00am-4:00pm	\$ 20.00 Registration	Student Activity Account # 541
MSP 6th. Grade Group A	Princeton University - 25 Students - 03 Chaperones	Princeton, NJ	03-10-17 8:35am-1:15pm	\$ 0.00	N/A
MSP 6th. Grade Group B	Princeton University - 25 Students - 03 Chaperones	Princeton, NJ	03-09-17 8:35am-1:15pm	\$ 0.00	N/A
MSP 6th- 8th.	Brooklyn Nets and AVID College Fair - 25 Students - 03 Chaperones	Brooklyn, NY	03-23-17 8:35am-12:00am	\$ 560.00 Registration	Title I
MSP	Atlantic County Teen Fair - 70 Students - 07 Chaperones	Hammonton, NJ	05-24-17 8:30am-1:30pm	\$ 350.00 Registration	Student Account 558, 557, 804, 541
MSP	AC High School SAT Testing - 19 Students - 01 Chaperones	AC, NJ	05-06-17 7:15am-12:00pm	\$ 250.00 Registration	Student Activity Account # 823
NMSS Pre-K	JCC Margate - 90 Students - 27 Chaperones	Margate, NJ	03-23-17 9:30am- 1:30pm	\$ 600.00 Registration	15-190-100-800-0000-085
NMSS 6 Pre-K Classes	Atlantic County Park & Nature Center - 90 Students - 21 Chaperones	Mays Landing, NJ	04-25-17 9:00am-1:45pm	\$ 0.00	N/A
NMSS 6 Pre-K Classes	Cape May Park & Zoo - 90 Students - 21 Chaperones	Cape May, NJ	05-17-17 9:00am-1:45pm	\$ 240.00 Parking Permits	15-190-100-800-0000-085
NMSS 6 Pre-K Classes	Sunny Days Farm - 90 Students - 27 Chaperones	Mays Landing, NJ	06-01-17 9:30am-1:30pm	\$ 0.00	N/A
PHS JRCTC	Junior Achievement Mentorship Forum - 25 Students - 02 Chaperones	Mt. Laurel, NJ	03-15-17 4:00pm-6:30pm	\$ 0.00	N/A
PHS	Rise Up March @ SMSS # of Students and Chaperones TBD	Pleasantville, NJ	02-15-17 9:00am-9:45am	\$ 0.00	N/A
PHS JRCTC	NJ Athletic Directors Association Banquet @ Golden Nugget - 10 Students - 02 Chaperones	AC, NJ	03-25-17 7:00am-3:00pm	\$ 0.00	N/A

School	Activity	Location	Date/Time	Cost	Account#
PHS JRCTC	South Jersey Raiders Competition Train – Up - 20 Students - 02 Chaperones	Ft. Dix, NJ	03-25-17 7:00am-3:00pm	\$ 0.00	N/A
PHS JRCTC	New York Military Academy - 25 Students - 02 Chaperones	Hudson, NY	06-24-17 7:00am-4:00pm	\$ 350.00 Registration 25 cadets @ \$50.00 Total for competition \$ 1,250.00	15-190-100-800-0000-050 15-000-270-512-0000-050
PHS Band	St. Patrick's Day Parade - 30 Students - 04 Chaperones	Newark, NJ	03-17-17 8:30am-5:00pm	\$ 0.00	N/A
PHS Band	Doo Dah Parade - 30 Students - 04 Chaperones	Ocean City, NJ	04-08-17 10:15am-3:30pm	\$ 0.00	N/A
PHS Band	Rowen University - 30 Students - 03 Chaperones	Glassboro, NJ	04-25-17 11:00am-5:30pm	\$ 0.00	N/A
PHS Band	Stockton University - 30 Students - 03 Chaperones	Galloway, NJ	05-09-17 9:45am-1:00pm	\$ 0.00	N/A
PHS Social Studies Class	US Holocaust Memorial Museum - 10 Students - 01 Chaperone	Washington, DC	01-13-17 5:30am-9:00pm	\$ 0.00	N/A
PHS Multicultural Club	Community Food Bank of NJ  5 Students 2 Chaperones	EHT, NJ	03-04-17 9:00am-12:00pm	\$ 0.00	N/A
PHS 9 <sup>th</sup> . Grade	McCarter Theater Center - 18 Students - 02 Chaperones	Princeton, NJ	03-30-17 8:00am-2:00pm	\$ 325.00 Registration	20-231-100-600-0000-0545
PHS Anime Club	AC Convention Center - 10 Students - 04 Chaperones	AC, NJ	06-09-17 8:30am-1:30pm	\$ 600.00 Registration	Student Activity Account
PHS Freshman	McCarter Theater Center - 18 Students - 02 Chaperones	Princeton, NJ	03-30-17 8:00am-2:00pm	\$ 325.00 Registration	SIP Account 20-231-100-600-0000-545
PHS 12th. Grade Transition Students	Absecon Manor S.L.E. Orientation - 1 Student - 1 Chaperone	Absecon, NJ	TBD	\$ 0.00	N/A

School	Activity	Location	Date/Time	Cost	Account#
PHS	Royal Suites S.L.E.	Galloway, NJ	TBD	\$ 0.00	N/A
12th. Grade	Orientation				
Transition	<ul> <li>2 Students</li> </ul>				
Students	<ul> <li>1 Chaperone</li> </ul>				
WAS	PHS Auditorium for	Pleasantville,	05-30-17	\$ 0.00	N/A
Drama/Choir	production rehearsal	NJ	9:00am-1:00pm		
Club	<ul><li>175 Students</li><li>10 Chaperones</li></ul>				
WAS	PHS Auditorium for	Pleasantville,	06-01-17	\$ 0.00	N/A
Drama/Choir	production of Beauty	NJ	5:00pm-8:00pm		
Club	and the Beast				
	- 50 Students				
WAS	PHS Auditorium for	Pleasantville,	06-01-17	\$ 0.00	N/A
Drama/Choir	production of Beauty	NJ	9:00am-11:30am		
Club	and the Beast				
	<ul><li>428 Students</li><li>48 Chaperones</li></ul>				
WAS	Pleasantville Football	Pleasantville,	06-01-17	\$ 0.00	N/A
5 <sup>th</sup> . Grade	Field	NJ	8:45am-12:30pm		
	- 63 Students - 08 Chaperones		·		

- **5. Be it Resolved, that the Pleasantville Board of Education approve** the NJEA Frederick L. Hipp Foundation Grant Application for Anti-Bullying, Mindfulness, and Cultural Tolerance Initiative, to be used for The Peace Zone Initiative. The application for the grant is proposed for \$10,000 with the objective to recognize that bullying is a detailed process of negative escalation. The grant will be used to create a consistent atmosphere to minimize bullying by creating a positive atmosphere for staff and students, from classroom to classroom. This grant will feature special emphasis for parent involvement related to the students involved in the anti-bullying/mindfulness program during the day.
- **6. Be it Resolved, that the Pleasantville Board of Education approve** NMSS to apply for Field Trip New Jersey for funding supporting the 5<sup>th</sup>. Grade trip to Ellis Island. If awarded, the grant offers \$ 700.00 towards transportation.
- 7. Be it Resolved, that the Pleasantville Board of Education approve NMSS to accept donations from area businesses (supplies) to assist in supporting the Autism Committee in advancing the autistic students.
- **8. Be** *it* **Resolved**, **that the Pleasantville Board of Education approve** application for Lowe's Toolbox for Education K-12 Schools \$5,000 Grant for designing and building portable playgrounds.
- 9. Be it Resolved, that the Pleasantville Board of Education approve invitation to apply for Atlantic Care Healthy Schools/ \$17,800 Fitness in Education Grant. The grant is a continued sponsorship of Project Fit America, a non-profit organization dedicated to providing broad based fitness programs supporting physical education in elementary & middle schools. Project Fit America increases children's fitness testing levels, brings fun & innovative activities to schools and provides much needed indoor/outdoor PE equipment. It also provides on-site teacher training, curriculum materials, and lesson plan support supplies. The program is customized to each school and coordinates with existing PE program and curriculum.
  \$17,800 has been pledged to fund the development of the Project Fit America Program. One school will be selected and awarded the grant to be launched in the fall of 2017. Grant competitors are located in Atlantic, Cape May and southern Ocean counties. March 17, 2017 is the grant application deadline.

- **10. Be it Resolved, that the Pleasantville Board of Education approve** NMSS to continue participation in the Apple Benevity Program. The program will continue to donate from sources such as Apple, ADP, and Google workplace giving programs.
- 11. Be it Resolved, that the Pleasantville Board of Education approve modify the date of the PAA district-wide sub sale Fundraiser Activity to benefit scholarships for graduating Pleasantville High School seniors. This event was already approved at the January 17, 2017 board meeting. The request represents a change in the activity time interval and the delivery date. The fundraiser sale will now run from 2/27/17 through 3/20/17 with a new delivery date of 3/29/17.
- **12.** Be it Resolved, that the Pleasantville Board of Education approve Power Hour After School Program at Leeds Ave. School, Washington Ave. School, and North Main Street School. The program purpose is to provide additional after school enrichment services to students in Grades K-5 who are the most academically at risk due to performance and/or environmental circumstances.
- **NAME**: Quenna Martin; Mary Lenahan/ Falleta Hare-Jones-Aides
- POSITION: LOCATION: Leeds Ave. School, Washington Avenue School, & North Main Street School
- **EFFECTIVE DATE**: January, 2017-March, 2017; Tuesdays, Wednesdays, and Thursdays
- **SALARY / RATE**: per contractual agreement or 2.0 hours per day for 74 days; total fees for the program are not to exceed \$5,400

- FUNDING SOURCE: 20-231-100-100-0000-545-Teacher/ 20-231-100-106-0000-545-Aide/ Title I

. 5.12.11.5 5 5 5.11.5.1. 100 100 5 5 1 1 000 100 100 100 000 0 10 7 100 1							
Name	Position	Dates	Salary	Funding Source			
Martin	Power Hour	Jan., 2017-March, 2017	\$ 45.00 per hour for 2.0 hours per	20-231-100-100-0000-545			
Quenna	Substitute		day for 74 days not to exceed				
	Teacher		\$5,400.00				
Lenahan	Power Hour	Jan., 2017-March, 2017	\$ 45.00 per hour for 2.0 hours per	20-231-100-100-0000-545			
Mary	Substitute		day for 74 days not to exceed				
·	Teacher		\$5,400.00				
Reaves	Power Hour	Jan., 2017-March, 2017	\$45.00 per hour for 72 hours x not to	20-231-100-100-0000-545			
Kathleen	Teacher		exceed \$3,240.00				
Hare-Jones	Power Hour	Jan., 2017-March, 2017	\$30.00 per hour for 72 hours x not to	20-231-100-106-0000-545			
Falleta	Aide		exceed \$2,160.00				

- 13. Be it Resolved, that the Pleasantville Board of Education approve to hire the following additional staff members to work in the After School English Language Academy for English Language Learners (Pre-K-12). The focus of the extended day is to increase the language development in English for the ELL population. Additional ESL Teachers for the After School ESL Academy are being requested based on student involvement. The academy uses Title III fund # 20-241-100-101-0000-545 for teachers and fund # 20-241-100-106-0000-545 for instructional aides.
  - **NAME**: After School English Language Academy
  - POSITION: Positions include the following: Teachers Instructional aides
  - LOCATION: Site Locations: Decatur Ave. School
  - EFFECTIVE DATE: November, 2017 May 25th, 2017
  - SALARY / RATE: per contractual rates (see attachment). Total program costs not to exceed \$ 54,000
  - **FUNDING SOURCE**: 20-241-100-101-0000-545 and 20-241-100-106-0000-545

Name Position Dates Salary Funding Source

Dunn	ESL English Language	October 17 <sup>th</sup> , 2016-	1 hour per day @ \$45.00 per	Title III
Jennifer	Academy DAS Teacher	May 25 <sup>th</sup> , 2017	hour for 60 days. Total not to	20-241-100-101-0000-545
	·		exceed \$2,700.00	
Shepler	ESL English Language	October 17 <sup>th</sup> , 2016-	1 hour per day @ \$45.00 per	Title III
Janet	Academy DAS Teacher	May 25 <sup>th</sup> , 2017	hour for 60 days. Total not to	20-241-100-101-0000-545
		•	exceed \$2,700.00	
Gist-Ragland	ESL English Language	October 17th, 2016-	1 hour per day @ \$45.00 per	Title III
Lisa	Academy DAS Teacher	May 25 <sup>th</sup> , 2017	hour for 60 days. Total not to	20-241-100-101-0000-545
		•	exceed \$2,700.00	
Holms	ESL English Language	October 17th, 2016-	1 hour per day @ \$45.00 per	Title III
Robin	Academy DAS Teacher	May 25 <sup>th</sup> , 2017	hour for 60 days. Total not to	20-241-100-101-0000-545
		•	exceed \$2,700.00	
Eykyn	ESL English Language	October 17th, 2016-	1 hour per day @ \$45.00 per	Title III
Janelle	Academy DAS Teacher	May 25 <sup>th</sup> , 2017	hour for 60 days. Total not to	20-241-100-101-0000-545
	Substitute		exceed \$2,700.00	
Pilarte-	ESL English Language	October 17th, 2016-	1 hour per day @ \$45.00 per	Title III
Custodio	Academy DAS Teacher	May 25 <sup>th</sup> , 2017	hour for 60 days. Total not to	20-241-100-106-0000-545
Evelyn	Substitute		exceed \$2,700.00	
Cardona	ESL English Language	October 17 <sup>th</sup> , 2016-	1 hour per day @ \$30.00 per	Title III
Raquel	Academy DAS Aide	May 25 <sup>th</sup> , 2017	hour for 60 days. Total not to	20-241-100-106-0000-545
-	·		exceed \$2,700.00	
Cherry	ESL English Language	October 17th, 2016-	1 hour per day @ \$30.00 per	Title III
Rosalind	Academy DAS Aide	May 25 <sup>th</sup> , 2017	hour for 60 days. Total not to	20-241-100-101-0000-545
			exceed \$2,700.00	
Garris	ESL English Language	October 17th, 2016-	1 hour per day @ \$30.00 per	Title III
Laquinta	Academy DAS Aide	May 25 <sup>th</sup> , 2017	hour for 60 days. Total not to	20-241-100-101-0000-545
	Substitute		exceed \$2,700.00	
Jackson	ESL English Language	October 17th, 2016-	1 hour per day @ \$30.00 per	Title III
Jeanne	Academy DAS Aide	May 25 <sup>th</sup> , 2017	hour for 60 days. Total not to	20-241-100-101-0000-545
			exceed \$2,700.00	

- **14.** Be it Resolved, that the Pleasantville Board of Education approve Brian Kavanagh NMSS Teacher for planning and preparation for a Math Strategies Workshop to be presented to district 3<sup>rd</sup>, 4<sup>th</sup> and 5<sup>th</sup> Grade Teachers on the District Professional Development Day -February 17<sup>th</sup> 2016. Planning and preparation will be completed afterschool in February 2017. Salary Rate 3 planning and preparation hours @ \$30.00 not to exceed \$90.00. Funding Source: 11-000-221-104-0000-234.
- **15. Be it Resolved, that the Pleasantville Board of Education approve** Awards for Top Classes in the **SumDog** Online Math Contest Grades 1st 5th from February 3rd February 9th. Top Classes will receive a Class Trophy and a Cookie Tray for the class. Total Cost 8 Total Cookie Trays at \$12.50 each. Not to exceed \$100.00 Funding Source: #11-000-221-104-0000-234
- **16. Be it Resolved, that the Pleasantville Board of Education approve** Washington Avenue School to have a Facebook Page on the internet to keep the community informed of all educational initiatives and activities provided by the school.
- **17. Be it Resolved, that the Pleasantville Board of Education approve** the following Students for Home Instruction.

Student ID#/State ID #	Projected Number of Days	Projected Number of Hours	Cost Per Hour	Projected Total Cost	TYPE	GRADE	ACCOUNT#
12642501 / 9738386745	16	16	\$45.00	\$720.00	MEDICAL	01	11-150-100-101-0000-400
2080080 / 5480767130	10	10	\$45.00	\$450.00	ADMIN	09	11-150-100-101-0000-400
13570615 / 6955261209	40	40	\$45.00	\$1800.00	ADMIN	06	11-150-100-101-0000-400
3053803 / 1053143114	25	25	\$45.00	\$1125.00	ADMIN	07	11-150-100-101-0000-400
3045843 / 1161946212	40	40	\$45.00	\$1800.00	MEDICAL	05	11-150-100-101-0000-400
11225130 / 2219500714	30	60	\$45.00	\$2700.00	ADMIN	07	11-219-100-101-0000-400
3077623 / 4815699229	53	106	\$45.00	\$4770.00	ADMIN	07	11-219-100-101-0000-400
13280042/ 4436894628	19	38	\$45.00	\$1710.00	ADMIN	11	11-219-100-101-0000-400
12796801 / 8830303663	40	40	\$45.00	\$1800.00	MEDICAL	01	11-150-100-101-0000-400
11552958 / 3007721020	40	40	\$45.00	\$1800.00	MEDICAL	05	11-150-100-101-0000-400
3003008/ 7521098678	45	90	\$45.00	\$4050.00	ADMIN	08	11-219-100-101-0000-400
3032563 / 9732431753	40	80	\$45.00	\$3600.00	MEDICAL	08	11-219-100-101-0000-400
3070583 / 7276628139	40	40	\$45.00	\$1800.00	MEDICAL	08	11-150-100-101-0000-400

3029903 / 3768731858	40	80	\$45.00	\$3600.00	MEDICAL	08	11-219-100-101-0000-400
12695268 / 4436894628	40	40	\$45.00	\$1800.00	MEDICAL	02	11-150-100-101-0000-400

### **18.** Be it Resolved, that the Pleasantville Board of Education approve the following Technology Curriculum Instructional Units.

Course Name	Grade Level
World History (Honors)	9
World History (Regular)	9
Criminal Justice	11-12
Introduction to College Algebra	10-12
Probability and Statistics	10-12
SAT Math	10-12
SAT ELA	10-12
Pre-Calculus	10-12
Hospitality and Tourism	9-12
Entrepreneurship	9-12
Marketing	9-12
Math 180	9-12
Technology Unit 1 Internet Usage and Digital Citizenship	К
Technology Unit 2 Internet Usage and Digital Citizenship & Keyboarding	K
Technology Unit 3 Software Applications	K
Technology Unit 4 Basic Word Processing	K
Technology Unit 1 Internet Usage and Digital Citizenship & Keyboarding	1
Technology Unit 2 Software and Computer Applications	1
Technology Unit 3 Basic Word Processing	1
Technology Unit 4 Basic Multi-Media Presentations	1
Technology Unit 1 Internet Usage and Digital Citizenship & Keyboarding	2
Technology Unit 2 Computer Applications for Word Processing	2
Technology Unit 3 Computer Applications for Word Processing & Multi- Media Presentations	2
Technology Unit 4 Using Basic Google Applications	2
Technology Unit 1 Internet Usage and Digital Citizenship & Keyboarding	3
Technology Unit 2 Computer Applications for Word Processing and Media Presentations	3
Technology Unit 3 Multi-Media and Presentation Software	3
Technology Unit 4 Presentation and Collaboration Using Google	3
Technology Unit 1 Internet Usage and Digital Citizenship & Word Processing	4
Technology Unit 2 Multi-Media Presentations and Research	4
Technology Unit 3 Presentation and Collaboration using Google	4

Technology Unit 4 Using Google for Multi-Media Presentations and	
Research	4
Technology Unit 1 Internet Usage and Digital Citizenship & Word	
Processing	5
Technology Unit 2 Digital Content and Creation Incorporating Google	5
Technology Unit 3 Using Google for Multi Media Presentations and	
Research	5
Technology Unit 4 Web Design and Collaboration	5
Introduction to Computers Unit 1 Digital Citizenship & Word Processing	6
Introduction to Computers Unit 2 Digital Content and Creation Incorporating	
Google	6
Computer and Information Technology Unit 1	7
Computer and Information Technology Unit 2	7
Computer Applications Unit 1	8
Computer Applications Unit 2	8

19. Be it Resolved, that the Pleasantville Board of Education approve the following Instructional Units

Physical Education Unit 1 Wellness	9th -12th
,	9 <sup>th</sup> -12 <sup>th</sup>
Physical Education Unit 2 Movement/Rhythm	9 <sup>th</sup> -12 <sup>th</sup>
Physical Education Unit 3 Cooperative Activities	· -
Physical Education Unit 4 Individual Activities	9 <sup>th</sup> -12 <sup>th</sup>
Physical Education Unit 5 Team Activities	9 <sup>th</sup> -12 <sup>th</sup>
Health Unit 1 Wellness	9 <sup>th</sup> -12 <sup>th</sup>
Health Unit 2 Alcohol, Tobacco and other Drugs	9 <sup>th</sup> -12 <sup>th</sup>
Health Unit 3 Family Life/Sexuality	9 <sup>th</sup> -12 <sup>th</sup>
Health Unit 4 Community Health Skills	9 <sup>th</sup> -12 <sup>th</sup>
Novice to Novice Mid Spanish I and French I Unit 1 All About Me	9 <sup>th</sup> -12 <sup>th</sup>
Novice to Novice Mid Spanish I and French I Unit 2 School Days	9 <sup>th</sup> -12 <sup>th</sup>
Novice to Novice Mid Spanish I and French I Unit 3 Home, Sweet Home	9 <sup>th</sup> -12 <sup>th</sup>
Novice to Novice Mid Spanish I and French I Unit 4 Food Glorious Food	9 <sup>th</sup> -12 <sup>th</sup>
Novice to Novice Mid Spanish I and French I Unit 5 Celebrations	9 <sup>th</sup> -12 <sup>th</sup>
Novice to Novice Mid Spanish I and French I Unit 6 Migratory Animals	9 <sup>th</sup> -12 <sup>th</sup>
Novice to Novice Mid Spanish I and French I Unit 7 Going Green	9 <sup>th</sup> -12 <sup>th</sup>
Novice Mid to Novice High Spanish II and French II Unit 1	9 <sup>th</sup> -12 <sup>th</sup>
Novice Mid to Novice High Spanish II and French II Unit 2	9 <sup>th</sup> -12 <sup>th</sup>
Novice Mid to Novice High Spanish II and French II Unit 3	9 <sup>th</sup> -12 <sup>th</sup>
Novice Mid to Novice High Spanish II and French II Unit 4	9 <sup>th</sup> -12 <sup>th</sup>
Novice Mid to Novice High Spanish II and French II Unit 5	9 <sup>th</sup> -12 <sup>th</sup>
Novice Mid to Novice High Spanish II and French II Unit 6	9 <sup>th</sup> -12 <sup>th</sup>
Novice Mid to Novice High Spanish II and French II Unit 7	9 <sup>th</sup> -12 <sup>th</sup>
Driver's Education Unit 1 The Driving Task	10 <sup>th</sup>
Driver's Education Unit 2 Basic Driving Skills	10 <sup>th</sup>
Driver's Education Unit 3 Moving onto the Road	10 <sup>th</sup>
Driver's Education Unit 4 Driving in Adverse Conditions and Handling	10 <sup>th</sup>
Emergencies	
Driver's Education Unit 5 Being a Responsible Driver	10 <sup>th</sup>
JROTC	9 <sup>th</sup> – 12 <sup>th</sup>

20. Be it Resolved, that the Pleasantville Board of Education approve the following Resolution: In an effort to ensure that the Visual and Performing Arts curriculum is current and in compliance with the newest state standards. The following curricular and instructional units along with resources, 21st century skills, accommodations and modifications, performance assessments, enduring understandings, knowledge and Assessments will be rewritten, revised, board approved, and uploaded in edConnect to reflect the changes based on the revised curriculum and standards. Specifically: Music Appreciation, Beginning Band, Piano Lab, Vocal Ensemble, Fine Arts I, Fine Arts II, Graphic Arts, Jewelry Design, Dance I, Dance II, Drama I and Drama II. Timeline for the revised Curriculum is February 16th, 2017 to March 14th, 2017. Not to exceed \$3.150 using account # 11-000-221-500-0000-234

Name	Position	Location	Effective Date	Salary	Account #
Michael	Teacher	PHS	2-16-2017 –	\$30.00 an hour for 15 hours not to	# 11-000-221-500-0000-234
Daily			3-14-2017	exceed \$450.00	
Arthur	Teacher	PHS	2-16-2017 –	\$30.00 an hour for 15 hours not to	# 11-000-221-500-0000-234
Taylor			3-14-2017	exceed \$450.00	
Amanda	Teacher	PHS	2-16-2017 –	\$30.00 an hour for 15 hours not to	# 11-000-221-500-0000-234
Fowler			3-14-2017	exceed \$450.00	
Kelly	Teacher	PHS	2-16-2017 –	\$30.00 an hour for 15 hours not to	# 11-000-221-500-0000-234
Hainsworth			3-14-2017	exceed \$450.00	
Renee	Coach	PHS	2-16-2017 –	\$30.00 an hour for 15 hours not to	# 11-000-221-500-0000-234
Gensamer			3-14-2017	exceed \$450.00	
Sara	Teacher	PHS	2-16-2017 –	\$30.00 an hour for 15 hours not to	# 11-000-221-500-0000-234
Gendlek			3-14-2017	exceed \$450.00	
Lindsey	Coach	PHS	2-16-2017 –	\$30.00 an hour for 15 hours not to	# 11-000-221-500-0000-234
Marchesani			3-14-2017	exceed \$450.00	

**21. Be it Resolved, that the Pleasantville Board of Education approve** after school professional development workshops for the March 2017. The following workshops are being requested as listed below:

Date/Time	Workshop	Description	Grade Levels	Location	Presenter
Mondays:	PARCC	Participants will utilize the PARCC Blueprint and	PHS ELA and	PHS B01	Lindsey
March 6th, 13th,	Bootcamp:	Evidence Statement Analysis to make modifications	Math		Marchesani
20th, and 27th	Data-Driven	to the PHS curriculum and pacing. Teachers will add,			and Kelsey
2:45 - 4:15	Instruction	replace, move lessons based on priority and			Shockley
		emphasis in PARCC.			
Tuesdays:	Authentic	Participants will incorporate 21st century skills and	9th - 12th	PHS	Kelsey
March 7th, 14th,	Benchmark	NJ Student Learning Standards into the current	Social	B202	Shockley
21st, and 28th	Assessments	curriculum and create authentic assessments	Studies		
2:45 - 4:15	and	questions based on the New Jersey Model	Teachers		
	Curriculum for	Curriculum for US I, US II, and World History			
	PHS Social				
	Studies				
Monday, March	edPuzzle	Learn how to use edPuzzle: this is an easy-to-use	PHS	PHS	Merin Willy
6th		video platform that helps teachers save time, boost		A112	
2:45 - 4:45		classroom engagement and improve student learning			
		through video lessons. Teachers will create			
		individualized video lessons for different students and			
		their particular needs or areas of interest.			
Wednesday:	Vertical	Participates will discuss the challenges associated	PreK-1st	Decatur	John Toland
March 8 <sup>th</sup> , 2017	Articulation	with the transition from pre-k to kindergarten. The	Grade		Jennifer Elwell
3:30-5:30		discussion will include an analysis of student			
		performance from the beginning of the kindergarten			

		school year assessment, content standards and expectations. The workshop will conclude with the creation of a collaborative plan on how to meet the needs of the students.			
Wednesday: March 15 <sup>th</sup> , 2017 3:30-5:30	Vertical Articulation	Participates will discuss the challenges associated with the transition from pre-k to kindergarten. The discussion will include an analysis of student performance from the beginning of the kindergarten school year assessment, content standards and expectations. The workshop will conclude with the creation of a collaborative plan on how to meet the needs of the students.	PreK-1st Grade	NMSS	John Toland Katie Kunze
Tuesday March 28, 2017 3:30-5:30	ACES Adverse Childhood Experience	A workshop that all educators and administrators need to attend. Stressed brains cannot learn. Childhood experiences, both positive and negative, have a tremendous impact on future violence victimization and perpetration, and lifelong health and opportunity. As such, early experiences are an important public health issue.	Pre-K - 5th	WAS	Renee Gensamer
Wednesday March 29, 2017 3:30-5:30	ACES Adverse Childhood Experience	A workshop that all educators and administrators need to attend. Stressed brains cannot learn. Childhood experiences, both positive and negative, have a tremendous impact on future violence victimization and perpetration, and lifelong health and opportunity. As such, early experiences are an important public health issue. Much of the foundational research in this area has been referred to as Adverse Childhood Experiences (ACEs) ACEs can be prevented. Learn more about preventing ACEs in your community	6th -12th	MSP	Renee Gensamer
March 8, 2017 2:45-4:15pm	Technology Training Session	Learn how to incorporate the latest technology tools of the trade into your classroom. This will a variety of resources that will allow teachers to create a connected/interactive classroom. Time will also be allocated for sharing and technology troubleshooting.	9-12	PHS	Robyn LaTorre

### **22. Be it Resolved, that the Pleasantville Board of Education approve** presenters to use **preparation time** from February to March 2017 to plan for after school professional development for March 2017.

Name	Location	Name of Workshop(s)	Date	Cost	Account #
Kelsey Shockley	PHS	PARCC Bootcamp: Data Instruction	February to March 2017	6 @ \$30.00 not to exceed \$180.00	11-000-221-104-0000-234
Merin Willy	PHS	edPuzzle	February to March 2017	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234

Robyn LaTorre	PHS	Technology Training Session	February to March 2017	1.5 @ \$30.00 not to exceed \$45.00	11-000-221-104-0000-234
John Toland	Decatur/ NMSS	Vertical Articulation	February to March 2017	4 @ \$30.00 not to exceed \$120.00	11-000-221-104-0000-234
Jennifer Elwell	Decatur	Vertical Articulation	February to March 2017	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Katie Kunze	NMSS	Vertical Articulation	February to March 2017	2 @ \$30.00 not to exceed \$60.00	11-000-221-104-0000-234
Renee Gensamer	WAS/ MSP	ACES Adverse childhood Experiences	February to March 2017	4 @ \$30.00 not to exceed \$120.00	11-000-221-104-0000-234

**23. Be it Resolved, that the Pleasantville Board of Education approve** presenters for <u>presentation</u> of after school professional development for March 2017.

Name	Location	Name of	Date	Cost	Account #
		Workshop(s)			
Kelsey	PHS	PARCC Bootcamp:	February to	6 @ \$30.00 not to	11-000-221-104-0000-234
Shockley		Data Instruction	March 2017	exceed \$180.00	
Merin	PHS	edPuzzle	February to	2 @ \$30.00 not to	11-000-221-104-0000-234
Willy			March 2017	exceed \$60.00	
Robyn	PHS	Technology Training	February to	1.5 @ \$30.00 not	11-000-221-104-0000-234
LaTorre		Session	March 2017	to exceed \$45.00	
John	Decatur/	Vertical Articulation	February to	4 @ \$30.00 not to	11-000-221-104-0000-234
Toland	NMSS	Voltical / liticalation	March 2017	exceed \$120.00	
Jennifer	Decatur	Vertical Articulation	February to	2 @ \$30.00 not to	11-000-221-104-0000-234
Elwell		Vertical Articulation	March 2017	exceed \$60.00	
Katie	NMSS	Vertical Articulation	February to	2 @ \$30.00 not to	11-000-221-104-0000-234
Kunze		Vertical Articulation	March 2017	exceed \$60.00	
Renee	WAS/	ACES Adverse	February to	4 @ \$30.00 not to	11-000-221-104-0000-234
Gensamer	MSP		March 2017	exceed \$120.00	
		childhood Experiences			

24. Be it Resolved, that the Pleasantville Board of Education approve the following <u>participants</u> to attend the after school professional development workshop: Authentic Benchmark Assessments

Presenter: Kaisha Medina for March 10 and 17 from 3:30pm -5:30pm (K-5). Participants will creating authentic assessments questions based on the New Curriculum Framework for ELA Unit 3 and/or 4.

Total not to exceed \$1.800.00.

Name	PD Location	Cost	Account #
Frankie Davis	NMSS	4 @ \$30.00 not to exceed \$120.00	11-000-221-500-0000-234
Patricia Davis	NMSS	4 @ \$30.00 not to exceed \$120.00	11-000-221-500-0000-234
Matthew Krason	NMSS	4 @ \$30.00 not to exceed \$120.00	11-000-221-500-0000-234
Matt Barnard	NMSS	4 @ \$30.00 not to exceed \$120.00	11-000-221-500-0000-234
Andrea Hindelang	NMSS	4 @ \$30.00 not to exceed \$120.00	11-000-221-500-0000-234
Sumedha Anand	NMSS	4 @ \$30.00 not to exceed \$120.00	11-000-221-500-0000-234

Kia Allen	NMSS	4 @ \$30.00 not to exceed \$120.00	11-000-221-500-0000-234
Y'Tanya Gillespie	NMSS	4 @ \$30.00 not to exceed \$120.00	11-000-221-500-0000-234
Beth Maisto	NMSS	4 @ \$30.00 not to exceed \$120.00	11-000-221-500-0000-234
Tammy Mahana	NMSS	4 @ \$30.00 not to exceed \$120.00	11-000-221-500-0000-234
Brittany LaPorte	NMSS	4 @ \$30.00 not to exceed \$120.00	11-000-221-500-0000-234
Rhonda Pinder	NMSS	4 @ \$30.00 not to exceed \$120.00	11-000-221-500-0000-234
Michael Zain	NMSS	4 @ \$30.00 not to exceed \$120.00	11-000-221-500-0000-234
Gerardo Rios	NMSS	4 @ \$30.00 not to exceed \$120.00	11-000-221-500-0000-234

25. Be it Resolved, that the Pleasantville Board of Education approve the following participants to attend the after school professional development workshop: Google Applications for Education 1

Presenter: Aaron Washington for March 14 from 3:30pm -5:30pm (K-12). Participants will learn: How technology can benefit teaching and learning? Why and how technology can support the work you currently do? How you can use technology to prepare for the future? What tools are available in the G Suite for Education? How to pick the right tool for your objective? How you can help your students behave responsibly online?

Total not to exceed Total \$1,800.00

Name	PD Location	Cost	Account #
Frankie Davis	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Davis, Patricia	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
John Toland	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Elena Meade	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Dolores L. Roberts	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Anthony Perrone	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kristene Miller	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kimberly sparks	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Delahant, Deborah	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Amy Cutler	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Elise Thompson	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Turkessa Lee	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
William Bartle	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Allison Daub	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Michael La Torre	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Aliyah Harmon	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Jeanine Doms	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kathleen Russo	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Martha Wisenbaker	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Elizabeth Hurley	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Janet Bravo	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Rodger Fleming	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Leo Hamlett	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Angela Davis	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Sandra Strazzeri	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Candy Wesley	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Marlene Barrera	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kathy Syvarth	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Allison Cordivari	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

26. Be it Resolved, that the Pleasantville Board of Education approve the following participants to attend the after school professional development workshop: Google Applications for Education 2

Presenter: Aaron Washington for March 28 from 3:30pm -5:30pm (K-12). Participants will learn: The essential digital literacy skill of searching online, Simple steps to evaluate sources, Easy processes for filtering search results and an understanding of why this is important, How to avoid plagiarism in the context of Web research, How to customize your online experience using Google Chrome, and The potential for creativity and curiosity to be fostered using Chrome Apps and Extensions.

Total not to exceed Total \$1.800.00

Name	PD Location	Cost	Account #
Frankie Davis	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Patricia Davis	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
John Toland	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Matthew Krason	MSP	<u> </u>	11-000-221-500-0000-234
		2 @ \$30.00 not to exceed \$60.00	
Elena Meade	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Michael Kiefer	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kimberly sparks	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Rachael Bey-Burghart	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Amy Cutler	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Elise Thompson	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Carla Block-Ropiecki	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
William Bartle	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Luanna Miller	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Turkessa Lee	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Allison Daub	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Michael La Torre	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Aliyah Harmon	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Jeanine Doms	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Jeanette Reed	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kathleen Russo	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Terre Alabarda	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Elizabeth Hurely	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Stacey Swann	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Leo Hamlett	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Angela Davis	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Sandra Strazzeri	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Bruce Harper	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
John Dulski	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Andrea Merline	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Allison Cordivari	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

27. Be it Resolved, that the Pleasantville Board of Education approve the following participants to attend the after school professional development workshop: Modeling and Reasoning with Mathematics.

Presenter: Allison Cordivari for March 8 from 3:30pm -5:30pm (3-5). Incorporating the Mathematical Practice Standards within the Content Standards can present challenges. This workshop will explore the mathematical practice standards and provide resources incorporate them in your lessons. We will also focus on models for fractions, arrays, multiplication etc... Alternate strategies for the Standard Algorithms (Area Models/Partial Sums) will also be reviewed.

Total not to exceed Total \$600.00

Name	PD Location	Cost	Account #
Matt Barnard	LAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

Barbara Hinchman	LAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Willie Ceasar	LAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Michael Kiefer	LAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kia Allen	LAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Martha Wisenbaker	LAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kathy McQueen	LAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Patricia Barnard	LAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Dawn Karpinski	LAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Andrea Hindelang	LAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

28. Be it Resolved, that the Pleasantville Board of Education approve the following participants to attend the after school professional development workshop: Technology Training Session. Presenter: Tina Favre for March 8 from 3:30pm -5:30pm (K-12). Learn how to incorporate the latest technology tools of the trade into your classroom. Included will be flipping instruction with edPUZZLE, Swivls, and iPads, as well as other resources to create a connected/interactive classroom. Time will also be allocated for sharing and technology troubleshooting.

Total not to exceed Total \$900.00

Name	PD Location	Cost	Account #
Frankie Davis	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
William Bartle	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Michael La Torre	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Danielle Percy	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kathleen Russo	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Janet Bravo	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Rodger Fleming	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Angela Davis	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Christine Stanford	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Sandra Strazzeri	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
John Dulski	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Regina Tronu	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Liza Levitt	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Amirah Jones	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
SanJuana Parmer	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

29. Be it Resolved, that the Pleasantville Board of Education approve the following participants to attend the after school professional development workshop: Authentic Benchmark Assessments and Curriculum for PHS Social Studies. Presenter: Kelsey Shockley for March 7, 14, 21, 28 from 2:45 -4:15pm (9-12). Participants will incorporate 21st century skills and NJ Student Learning Standards into the current curriculum and create authentic assessments questions based on the New Jersey Model Curriculum for US I, US II, and World History \*\*\*There are less than 8 people in the Social Studies Department\*\*\*

Total not to exceed Total \$1.440.00

Name	PD Location	Cost	Account #
Robyn Pallitto	PHS	8 @ \$30.00not to exceed \$240.00	11-000-221-500-0000-234
Kristin Harris	PHS	8 @ \$30.00not to exceed \$240.00	11-000-221-500-0000-234
Andrea Moore	PHS	8 @ \$30.00not to exceed \$240.00	11-000-221-500-0000-234
Anne Hughes	PHS	8 @ \$30.00not to exceed \$240.00	11-000-221-500-0000-234
Garrow Kerr	PHS	8 @ \$30.00not to exceed \$240.00	11-000-221-500-0000-234
Brian Basner	PHS	8 @ \$30.00not to exceed \$240.00	11-000-221-500-0000-234

Bennecks Fabian	PHS	8 @ \$30.00not to exceed \$240.00	11-000-221-500-0000-234
-----------------	-----	-----------------------------------	-------------------------

30. Be it Resolved, that the Pleasantville Board of Education approve the following <u>participants</u> to attend the after school professional development workshop: NJCTL Algebra Based Physics. Presenter: Lindsey Marchesani for March 9, 16, 23, 30 from 2:45 -4:15pm (Algebra-Based Physics Teachers). Participants will expand on the new course to emphasize the math skills within the NJTCL curriculum. Common lessons will be created around the students weakest areas. Pacing will be adjusted based on first-year experience.

Total not to exceed Total \$720.00

Name	PD Location	Cost	Account #
Aliyah Harmon	PHS	6 @ \$30.00not to exceed \$180.00	11-000-221-500-0000-234
Denise Kubaska	PHS	6 @ \$30.00not to exceed \$180.00	11-000-221-500-0000-234
Sara Bailey	PHS	6 @ \$30.00not to exceed \$180.00	11-000-221-500-0000-234
Jessica Howell	PHS	6 @ \$30.00not to exceed \$180.00	11-000-221-500-0000-234

31. Be it Resolved, that the Pleasantville Board of Education approve the following <u>participants</u> to attend the after school professional development workshop: Technology Training Session. Presenter: Robyn LaTorre for March 8 from 2:45 -4:15pm. Learn how to incorporate the latest technology tools of the trade into your classroom. This will a variety of resources that will allow teachers to create a connected/interactive classroom. Time will also be allocated for sharing and technology troubleshooting. Total not to exceed Total \$720.00

Name	PD Location	Cost	Account #
Jessica Howell	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Michelle Stevenson	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Nicole McNeal	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Shirley King	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
James Hutton	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Robyn Pallitto	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Russell Whaley	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Merin Willy	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Angelika Sims	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Amanda Fowler-Wurtz	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Catherine Stanley	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Eileen Brown	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Brian Kehoe	PHS	Student Teacher N/A	N/A
Matthew Zachariades	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

**32. Be it Resolved, that the Pleasantville Board of Education approve** the following **participants** to attend the after school professional development workshop: **edPuzzle**. Presenter: Merin Willy for March 5 from 2:45 -4:45pm. Learn how to use edPuzzle: this is an easy-to-use video platform that helps teachers save time, boost classroom engagement and improve student learning through video lessons. Teachers will create individualized video lessons for different students and their particular needs or areas of interest

Total not to exceed Total \$480.00

Name	PD Location	Cost	Account #
Katrina Warren	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Shirley King	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Robyn Pallitto	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Catherine Stanley	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Russell Whaley	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

Grizilda Tabora	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Anna Lazos	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Ademir Duttweiler	PHS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

33. Be it Resolved, that the Pleasantville Board of Education approve the following participants to attend the after school professional development workshop: Predictable Charts for Shared Reading and Writing. Presenter: Michael Zain for March 9 from 3:30 -5:30pm (PreK-1st). Participants will learn how to use strategies for reading and writing through the use of predictable charts over a 5 day cycle through the building blocks model. This model improves fluency through sight word recognition, sentence building, and writing.

Total not to exceed Total \$600.00

Name	PD Location	Cost	Account #
Jessica Gaeckle	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Willie Ceasar	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Regina Callaghan	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Alyssa Tavarez	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Stacey Swann	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Brittany LaPorte	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kathy McQueen	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Diane Thompson	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
John Motley	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Dawn Karpinski	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Zelda Prieto	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

34. Be it Resolved, that the Pleasantville Board of Education approve the following participants to attend the after school professional development workshop: Alphabet charts, picture cards, and resources to increase alphabet recognition, reading and writing. Presenter: Michael Zain for March 16 from 3:30 - 5:30pm (PreK-1st). Participants will learn how to use Alphabet charts to enhance their whole group and small group instruction as well as find activities for center and station work that lead to students working independently

Total not to exceed Total \$900.00

Name	PD Location	Cost	Account #
Annmarie Mirigliani	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Jessica Gaeckle	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Judy Morris	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Dolores L. Roberts	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Barbara Hinchman	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Carol Zubkov	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Sumedha Anand	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Regina Callaghan	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Patricia Pressley	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Amy Cutler	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Alyssa Tavarez	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Linda Baum	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Terre Alabarda	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Stacey Swann	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Christopher Smith	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

**35. Be it Resolved, that the Pleasantville Board of Education approve** the following **participants** to attend the after school professional development workshop: **Math-ma-tazz Games, Resources, and More**. Presenter: Michael Zain for March 23 from 3:30 -5:30pm (PreK-1st). Participants will learn to how to use math games for whole group, small group, and independent work for instruction. You will find out where to find resources and how to use what you already have and convert them into independent work for centers, intervention and take home activities. In this session there will be a make and take component.

Total not to exceed Total \$780.00

Name	PD Location	Cost	Account #
Barbara Hinchman	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Michael Kiefer	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Regina Callaghan	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Jennifer Dunn	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Alyssa Tavarez	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Stacey Swann	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Lisa Gist-Ragland	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Dawn Morris	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Brittany LaPorte	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Anne Marie Smarra	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Diane Thompson	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Dawn Karpinski	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Zelda Prieto	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

**36. Be it Resolved, that the Pleasantville Board of Education approve** the following **participants** to attend the after school professional development workshop:

**Beginning SIOP training day 1**. Presenter: Renee Gensamer for March 21st from 3:30 -5:30pm (PreK-12). State required training for mainstream teachers that instruct ELLs. Strategies and modifications for ELLs in the general education classrooms.

Total not to exceed Total \$900.00

Name	PD Location	Cost	Account #
Frankie Davis	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Janelle Eykyn	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Mark Eykyn	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Andrea Hindelang	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kia Allen	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Evelyn Pilarte-Custodio	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Turkessa Lee	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Aliyah Harmon	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Michael La Torre	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Nikki D Smith	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Tammy Mahana	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Rodger Fleming	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Catherine Stanley	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Jennifer Martinez	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Martha Hoffnagle	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

**37. Be** *it* **Resolved**, **that the Pleasantville Board of Education approve** the following **participants** to attend the after school professional development workshop:

Beginning SIOP training day 2. Presenter: Renee Gensamer for March 22nd from 3:30 -5:30pm (PreK-

12). State required training for mainstream teachers that instruct ELLs. Strategies and modifications for ELLs in the general education classrooms.

## Total not to exceed \$900.00

Name	PD Location	Cost	Account #
Frankie Davis	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Davis, Patricia	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Janelle Eykyn	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Mark Eykyn	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Andrea Hindelang	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Rachael Bey Burghart	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kia Allen	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Evelyn Pilarte-Custodio	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Turkessa Lee	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Michael La Torre	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Aliyah Harmon	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Nikki D smith	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Rodger FLEMING	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Catherine Stanley	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Jennifer Martinez	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

**38.** Be it Resolved, that the Pleasantville Board of Education approve Advanced SIOP training day 1. Presenter: Renee Gensamer for March from 3:30 -5:30pm (PreK-12). State required training for mainstream teachers that instruct ELLs. Strategies and modifications for ELLs in the general education classrooms.

#### Total not to exceed \$900.00

Name	PD Location	Cost	Account #
Frankie Davis	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Robin Holmes	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Janelle Eykyn	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Mark Eykyn	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kia Allen	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Annmarie Mirigliani	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Turkessa Lee	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Aliyah Harmon	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Michael La Torre	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Y'Tanya Gillespie	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Linda Baum	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Nikki D Smith	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Syreeta Primas	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Stephanie Smith-Stowe	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Angela Davis	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

**39. Be it Resolved, that the Pleasantville Board of Education approve** the following <u>participants</u> to attend the after school professional development workshop: **Advanced SIOP training day 2**. Presenter: Renee Gensamer for March 23rd from 3:30 -5:30pm (PreK-12). State required training for mainstream teachers that instruct ELLs. Strategies and modifications for ELLs in the general education classrooms.

# Total not to exceed \$900.00

Name	PD Location	Cost	Account #
Frankie Davis	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

Davis, Patricia	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Robin Holmes	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Matthew Krason	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Janelle Eykyn	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Mark Eykyn	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Rachael Bey Burghart	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Annmarie Mirigliani	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kia Allen	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Delahant, Deborah	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Turkessa Lee	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Michael La Torre	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Aliyah Harmon	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Y'Tanya Gillespie	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Beth Maisto	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

**40. Be it Resolved, that the Pleasantville Board of Education approve** the following <u>participants</u> to attend the after school professional development workshop: **Progress Science and Math Initiate Resources**. Presenter: Dominick Dougherty for March 15 from 3:30 -5:30pm (6-8).

Total not to exceed \$480.00

Name	PD Location	Cost	Account #
Frankie Davis	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Mathew Mierzwinski	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Michael La Torre	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Aliyah Harmon	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Rodger Fleming	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Regina Tronu	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Blake Boffa	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Susan Swezeny	SMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

41. Be it Resolved, that the Pleasantville Board of Education approve the following <u>participants</u> to attend the after school professional development workshop: PARCC Bootcamp: Data Driven Instruction for Middle School Mathematics. Presenter: Dominick Dougherty for March 1, 7, 14 from 3:30 -5:30pm (6-8). Participants will utilize the PARCC Blueprints, Evidence Statement, and Unit benchmark data to create data driven plans and instructional resources to be used in the classroom. Teachers will add, replace, move lessons based on priority and emphasis in PARCC.

Total not to exceed \$ 1,980.00

Name	PD Location	Cost	Account #
Luanna Miller	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Matthew Mierzwinski	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Carla Block-Ropiecki	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Bruce Jones, Jr.	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Watson Katharine	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Donna Champion	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Rodger Fleming	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Angela Davis	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Blake Boffa	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Daniel Piettro	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Kenneth Norton	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234

**42. Be it Resolved, that the Pleasantville Board of Education approve** the following **participants** to attend the after school professional development workshop: **Flipping the Classroom** 

**For the serious flipper**. Presenter: Dominick Dougherty for March 6, 13, 20 from 3:30 -5:30pm (6-8). Participants will learn how to successfully flip the classroom. The first is session is a basic overview of the flipping the classroom model and tools that can be used to flip the classroom. The second two sessions are for reflection on classroom implementation. During this time participants will share best practices, troubleshoot problems, and explore more options for flipping the classroom

Total not to exceed Total \$2,340.00

Name	PD Location	Cost	Account #
Luanna Miller	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Matthew Mierzwinski	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Carla Block-Ropiecki	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Aliyah Harmon	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Danielle Percy	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Elizabeth Hurely	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Stephanie Smith-Stowe	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Angela Davis	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Sandra Strazzeri	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Rene DeSanto	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
John Dulski	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Sydney Simpson	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Susan Swezeny	MSP	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234

43. Be it Resolved, that the Pleasantville Board of Education approve the following participants to attend the after school professional development workshop: Vertical Articulation. Presenter: John Toland and Jennifer Elwell for March 8 from 3:30 -5:30pm (PreK-1st). Participates will discuss the challenges associated with the transition from pre-k to kindergarten. The discussion will include an analysis of student performance from the beginning of the kindergarten school year assessment, content standards and expectations. The workshop will conclude with the creation of a collaborative plan on how to meet the needs of the students.

Total not to exceed Total \$900.00

Name	PD Location	Cost	Account #
Robin Holmes	Decatur	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Judy Morris	Decatur	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Donald Hanek	Decatur	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kristene Miller	Decatur	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Sumedha Anand	Decatur	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Y'Tanya Gillespie	Decatur	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Lisa Gist-Ragland	Decatur	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Anne Marie Smarra	Decatur	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Amy Pacentrilli	Decatur	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Linda Rosas	Decatur	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Latisha Cooper	Decatur	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Sharone Brown-Jackson	Decatur	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Janet Shepler	Decatur	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Erika Baldwin	Decatur	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Gerardo Rios	Decatur	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

44. Be it Resolved, that the Pleasantville Board of Education approve the following participants to attend the after school professional development workshop: Vertical Articulation. Presenter: John Toland and Katie Kunze for March 15 from 3:30 -5:30pm (PreK-1st). Participates will discuss the challenges associated with the transition from pre-k to kindergarten. The discussion will include an analysis of student performance from the beginning of the kindergarten school year assessment, content standards and expectations. The workshop will conclude with the creation of a collaborative plan on how to meet the needs of the students.

Total not to exceed Total \$900.00

Name	PD Location	Cost	Account #
Jessica Gaeckle	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Patricia Davis	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Rachael Bey Burghart	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kia Allen	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Jennifer Dunn	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Dawn Morris	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Carol Zubkov	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Michelle Gray	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Amy Cutler	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Monica Johnson	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Bridget Huber	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Alicia Rullan	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Christina Salcedo	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Michael Zain	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Paulette Taylor	NMSS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

45. Be it Resolved, that the Pleasantville Board of Education approve the following participants to attend the after school professional development workshop: ACES- Adverse Childhood Experience. Presenter: Renee Gensamer for March 28th from 3:30 -5:30pm (PreK-5). A workshop that all educators and administrators need to attend. Stressed brains cannot learn. Childhood experiences, both positive and negative, have a tremendous impact on future violence victimization and perpetration, and lifelong health and opportunity. As such, early experiences are an important public health issue. Much of the foundational research in this area has been referred to as Adverse Childhood Experiences (ACEs) ACEs can be prevented. Learn more about preventing ACEs in your community

Total not to exceed Total \$840.00

Name	PD Location	Cost	Account #
Paulette Taylor	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Jessica Gaeckle	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Robin Holmes	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Judy Morris	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Barbara Hinchman	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Carol Zubkov	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Sumedha Anand	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kia Allen	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Rosangela Goldian	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Amy Cutler	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Patricia Pressley	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Monica Johnson	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Erika Baldwin	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Martha Wisenbaker	WAS	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

46. Be it Resolved, that the Pleasantville Board of Education approve the following participants to attend the after school professional development workshop: ACES- Adverse Childhood Experience. Presenter: Renee Gensamer for March 29th from 3:30 -5:30pm (6-12). A workshop that all educators and administrators need to attend. Stressed brains cannot learn. Childhood experiences, both positive and negative, have a tremendous impact on future violence victimization and perpetration, and lifelong health and opportunity. As such, early experiences are an important public health issue. Much of the foundational research in this area has been referred to as Adverse Childhood Experiences (ACEs) ACEs can be prevented. Learn more about preventing ACEs in your community.

Total not to exceed Total \$780.00

Name	PD Location	Cost	Account #
Michael La Torre	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Jeanine Doms	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kathleen Russo	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Janet Bravo	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Sandra Strazzeri	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kathy Syvarth	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Liza Levitt	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Deborah D'Anastasio	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Kenneth Norton	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Rene DeSanto	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Regina Tronu	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Mary Gillespie	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234
Alison Daub	MSP	2 @ \$30.00 not to exceed \$60.00	11-000-221-500-0000-234

47. Be it Resolved, that the Pleasantville Board of Education approve the following <u>participants</u> to attend the after school professional development workshop: PARCC Bootcamp: Data-Driven Instruction. Presenter: Lindsey Marchesani and Kelsey Shockley for March 6th, 13th, 20th, and 27th, 2:45 - 4:15. Participants will utilize the PARCC Blueprint and Evidence Statement Analysis to make modifications to the PHS curriculum and pacing. Teachers will add, replace, move lessons based on priority and emphasis in PARCC. 2015 PARCC's standard results will play into to where more emphasis is placed. Break-out sessions each week based on subject.

Total not to exceed Total \$1.620.00

Name	PD Location	Cost	Account #
Katrina Warren	PHS	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Nicole McNeal	PHS	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Susan Johnston	PHS	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Patricia Varallo	PHS	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Anna Lazos	PHS	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Merin Willy	PHS	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Ademir Duttweiler	PHS	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Scott Rullan	PHS	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234
Erik Clark	PHS	6 @ \$30.00 not to exceed \$180.00	11-000-221-500-0000-234

48. Be it Resolved, that the Pleasantville Board of Education approve JRL Productions, LLC to oversee see the design the set, build the set, and load it in and out of the stage. They will design the sound and run the sound during dress rehearsals and performances (providing additional equipment as necessary). JRL Productions will also serve as Technical Director providing training and support for the crew. JRL Productions will work collaboratively with the Director to ensure that all technical and design aspects of the show are in line with the Director's vision and operating as best as possible. At a cost not to exceed \$5,000.00 utilizing account

# 15-190-100-500-0000-050. A sound Engineer to take care of the set up and mix of the sound to make it a pleasant experience for the listening audience at a cost not to exceed \$ 750.00 utilizing account # 15-190-100-500-0000-050

**49. Be it Resolved, that the Pleasantville Board of Education approve** Musical Theater International for the rights, Scripts, and Accompaniment Sheet Music not to exceed the amount of \$1,357.00 utilizing account #15-190-100-500-0000-050.

Musical Theatre International

http://www.mtishows.com/disneys-high-school-musical

- Price Estimate: \$1,003-\$1357
- Based on the following data...
- Ticket Prices— \$7.00
- Number of Performances—3
- Tickets for Sale—200 tickets
- Number of Weeks—1
- The Rental Includes Licensing Rights as well as...

Resource	Quantity
ENHANCED STUDY GUIDE	1
LIBRETTO/VOCAL BOOK	30
PIANO CONDUCTOR'S SCORE	2

## STANDARD ORCHESTRATION

Instrumentation	Quantity
DRUMS	1
ELECTRIC BASS	1
GUITAR	1
GUITAR 2	1
KEYBOARD 2	1
PERCUSSION	1
ALTERNATE LATIN PERCUSSION	1

**50. Be it Resolved, that the Pleasantville Board of Education approve** ESL/Bilingual After School, English Language Academy for Parents at SMSS an DAC (Pending Criminal Clearance) Base on Adequate Student Involvement: (Total cost not to exceed \$1,800.00)

Name	Position	Location	Effective Date	Salary	Funding Source
Kathleen	Teacher	SMSS	February 21st – May	\$45.00 per hour for 1 hours	Title III immigrant
Reeves			25th ,2017	per day for 40 days not to	20-240-200-100-0000-545
				exceed \$1,800.00	

- **51. Be it Resolved, that the Pleasantville Board of Education approve** a request to make amendments to the Carl G. Perkins grant on the NJ Homeroom site. Amendments are being requested as a result of a reduction in cost for supplies and equipment.
- **52. Be it Resolved, that the Pleasantville Board of Education approve** The Superintendents' recommendation to reduce the cost of operating the facilities during the summer months. As a result the staff will work Monday through Thursday 8:00am-4:30pm with a 30 minute lunch break. Beginning Monday, June 19, 2017 through August 18, 2016 regular hours of 8:00-4:00pm will resume Monday, August 21,

- 2017. Custodial staff and Technology staff hours will vary depending on district work prioritization during the summer hours.
- **53. Be it Resolved, that the Pleasantville Board of Education approve** Middle School of Pleasantville requesting date change for the Honor & Merit Roll Breakfast from February 06, 2017 to February 09, 2017.
- **54. Be it Resolved, that the Pleasantville Board of Education approve** South Main Street School's Sisterhood after school program to accept a donation of \$430.25 from Victoria Shelton the owner of KinHairitage Salon located in Cardiff Shopping Center, Egg Harbor Township.
- **55. Be it Resolved, that the Pleasantville Board of Education approve** PHS Athletic Teams Recognitions for the 2016-2017 school year not to exceed \$8,000.00 for awards and meal disbursements. Utilizing accounts 15-402-100-600-0000-050 and 15-402-100-500-0000-050.
- 56. Be it Resolved, that the Pleasantville Board of Education approve a Virtual Credit Recovery Program, for senior students, who have exceeded the total of allotted absences in order to obtain high school graduation required credits. This program will be utilized as a final opportunity for seniors to meet their graduation requirements. This program will utilize Chromebooks as the media in which students will recover credit.

The price for Chromebooks is not to exceed \$5,500.00 utilizing funding source # 15-190-100-610-0000-050.

- **57. Be it Resolved, that the Pleasantville Board of Education approve** Tutors from Stockton University Middle School of Pleasantville will utilize students from Stockton University to tutor AVID students. This opportunity will be available to all Stockton students who are matriculated in the Department of Education and receive a recommendation from the Dean of the program. There will be no cost to the district for the implementation of AVID tutors and it will be effective February 27, 2017-June 9, 2017.
- 58. Be it Resolved, that the Pleasantville Board of Education approve Dominick Dougherty presenter to use preparation time from February to March 2017 to plan for after school professional development for March 2017.

Name	Location	Name of Workshop	Date	Cost	Funding Source
Dougherty Dominick	MSP	PARCC Bootcamp: Data Driven Instruction for Middle School Mathematics	February through March 2017	2 hours @ \$ 30.00 not to exceed \$ 60.00	11-000-221-104-0000-234
Dougherty Dominick	MSP	Flipping the Classroom For the serious flipper	February through March 2017	2 hours @ \$ 30.00 not to exceed \$ 60.00	11-000-221-104-0000-234

59. Be it Resolved, that the Pleasantville Board of Education approve Dominick Dougherty presenter for PARCC Bootcamp: Data Driven Instruction for Middle School Mathematics and Flipping the Classroom For the serious flipper February to March 2017 to plan for after school professional development for March 2017.

Name	Location	Name of Workshop	Date	Cost	Funding Source
Dougherty	MSP	PARCC Bootcamp:	February through	2 hours @ \$ 30.00 not to	11-000-221-104-0000-234
Dominick		Data Driven	March 2017	exceed \$ 60.00	
		Instruction for Middle			
		School Mathematics			

Dougherty	MSP	Flipping the	February through	2 hours @ \$ 30.00 not to	11-000-221-104-0000-234
Dominick		Classroom	March 2017	exceed \$ 60.00	
		For the serious flipper			

- 60. Be it Resolved, that the Pleasantville Board of Education approve AVID, Advancement Via Individual Determination, is a global nonprofit organization dedicated to closing the achievement gap by preparing all students for college and other postsecondary opportunities. Established more than 30 years ago AVID today impacts more than 800,000 students in 44 states and 16 other countries/territories. There are 11 "Essentials" to AVID. The 8th essential involves the implementation of tutorials and states, "A sufficient number of tutors must be available in the AVID elective class. Tutors should be students from colleges and universities and be trained to implement AVID methodologies." AVID:
  - Teaches skills and behaviors for academic success
  - Provides intensive support with tutorials and strong student/teacher relationships
  - Creates a positive peer group for students
  - Develops a sense of hope for personal achievement gained through hard work and determination

MOTION DV.	SECOND BY:	Vaai	N.a.
MOTION BY:	SECOND BT	Yea:	Nay:

#### **ROLL CALL**

Member	YES	NO	Abstain	Absent
James Barclay				
Bernice Couch				
Tony Davenport				
Paul Moore				
Sharnell Morgan				
Richard Norris				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

Motion by		_ Second	by			
Executive Session Motion p.m., it is hereby resolve the public shall be exclude subjects shall be discust MATTERS, PENDING, Assession will be disclosed maintain the confidential	d that the Ple ed in accordar sed on this of ND ANTICIPA to the public	easantville Beasantville Beasantville Bease with the date in the ATED LITIGE at this time	oard of Educat provisions as s session of the ATION. BE IT or a future me	ion may go in et forth in N.J.: Board closed FURTHER R	to closed or priva S.A. 10:4-12 and d to the public: ESOLVED that th	te session from which 10:4-13. The following PERSONNEL, PUPIL te discussion in closed
Roll Call:						
Member	Yes	No	Abstain	Absent	1	
James Barclay					1	
Bernice Couch					1	
Lawrence Davenport					1	
Sharnell Morgan					1	
Richard Norris					1	
Elysa Sanchez					]	
Ethel Seymore					]	
Carla Thomas					]	
Motion to come out of Ex  Motion by:  Roll Call:			nd by:		Yea:	Nay:
Member	Yes	No	Abstain	Absent	]	
James Barclay						
Bernice Couch						
Lawrence Davenport					]	
Sharnell Morgan					]	
Richard Norris					]	
Elysa Sanchez					]	
Ethel Seymore					]	
Carla Thomas						

Reconvene Board Meeting

Motion to Adjourn the Meetin	ุด
------------------------------	----

Motion by:	Second by:	Yea:	Nay:

# Roll Call:

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Sharnell Morgan				
Richard Norris				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				